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1 2 3 4 5 6 7 8 9 10
AU _2@°UA 12Eé&°d 21,427,495.1| 4,194,149.3 4,194,149.3( 899,647.4 899,647.4( 10,800,033.2| 3,856,147.5| 1,709,423.7| 454,580.7| 487,610.4
=1 ATasU
AUAZ20LT I12Eé°d 21,066,495.1| 4,194,149.3 4,194,149.3( 899,647.4 899,647.4( 10,800,033.2| 3,856,147.5| 1,709,423.7| 454,580.7| 487,610.4
=1 ATaiU
2pE2T2Ugk 12802Tda0AUacU 14,110,337.1( 3,017,921.5 3,017,921.5( 768,865.4 768,865.4| 7,040,468.7| 1,570,615.4| 1,007,133.5| 390,171.2( 425,982.9
=1 AaiU
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»f 14,110,337.1| 3,017,921.5 3,017,921.5( 768,865.4 768,865.4 7,040,468.7| 1,570,615.4| 1,007,133.5| 390,171.2( 425,982.9
S YEL
- 2RE3TA0Y»AC SRES WS T3A0»1 NS T»E3 Tx3AY»f 13,335,833.1| 2,938,180.4 2,938,180.4| 712,048.1 712,048.1| 6,585,273.8| 1,517,682.8 953,553.9| 358,697.8| 394,341.4
- 43- 37w RalY»A, TASUST3Y EA3EaieailY»n " N3wal 35,413.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
x3fAY»f
- 2303036C313Y, 137 313Y " T 3I3Y 3¢ 739,091.0 79,741.1 79,741.1| 56,817.3 56,817.3 455,194.9 52,932.6 53,579.6| 31,473.4] 31,641.5
136=3[a0Y»AC &=3i- 3w hRal
?ZéZUéﬁAUéGUUOB/E °i 25620gU°sE 4,513,233.3( 1,027,268.0 1,027,268.0| 130,606.0 130,606.0| 2,791,239.5( 1,722,153.7 650,490.2 34,097.6| 31,535.5
0°ég™ 2oadv
SR YEL
P3faiYST3T3Y ISEé»i 1,074,434.1 167,327.2 167,327.2| 38,128.2 38,128.2 729,428.6 216,083.4 303,490.9( 19,458.6 15,160.0
SR YEL
- YY»fi-» W CT 13é3(a0AladYY»hi 516,359.8 91,902.8 91,902.8 1,731.9 1,731.9 371,844.2 123,114.1 133,044.7| 10,726.1 7,479.3
- TaU&sY3t 1=3é3acAlasy Yo 26,945.2 11,240.0 11,240.0 200.0 200.0 14,595.4 6,692.3 5,776.2 175.5 180.2
- T=2AC 1363(a0AlaiYY»hi 436,640.2 59,864.4 59,864.4 8,720.3 8,720.3 288,738.1 52,431.8 160,720.0 7,637.0 7,180.5
- 243Nai=3-A3T3Y I3Eé»i 18,610.0 4,320.0 4,320.0 640.0 640.0 9,870.0 2,680.0 3,950.0 320.0 320.0




6LET

20la6e=T 01-01-01

1 2 3 4 5 6 7 8 9 10
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 75,878.9 0.0 0.0 26,836.0 26,836.0 44,380.9 31,165.2 0.0 600.0 0.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 1,302,129.4 350,000.0 350,000.0 55,690.6 55,690.6 745,575.7 627,464.0 48,000.0 2,257.2 2,529.6
a3UQ3Y3 -A3ICY 3E 1363[A0AIA6YY»AC O»éup»nasy 801,844.3 247,856.0 247,856.0| 12,085.8 12,085.8 417,558.5 264,123.5 134,850.0 800.0 2,550.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 13,781.2 6,000.0 6,000.0 0.0 0.0 5,000.0 1,000.0 4,000.0 0.0 0.0
- D3UST31-543(CY 1363A0AIE6YY »1 74,516.8 15,000.0 15,000.0 1,967.8 1,967.8 24,482.0 1,944.0 12,800.0 300.0 950.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 72,439.2 31,856.0 31,856.0 4,250.0 4,250.0 31,330.5 11,239.5 15,550.0 200.0 1,000.0
- T3ES T3S 13Y 13¢3aiAaYY»h 3,948.0 0.0 0.0 3,948.0 3,948.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 2,000.0 0.0 0.0 0.0 0.0 2,000.0 2,000.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 627,190.5 195,000.0 195,000.0 1,500.0 1,500.0 353,440.0 247,940.0 102,500.0 300.0 300.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 7,968.6 0.0 0.0 420.0 420.0 1,306.0 0.0 0.0 0.0 300.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 2,773.3 0.0 0.0 0.0 0.0 2,647.3 0.0 0.0 0.0 200.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 2,773.3 0.0 0.0 0.0 0.0 2,647.3 0.0 0.0 0.0 200.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 531,585.3 32,000.0 32,000.0 4,024.0 4,024.0 468,498.4 437,329.2 12,740.7 2,400.0 1,196.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 23,000.0 12,000.0 12,000.0 0.0 0.0 11,000.0 10,000.0 1,000.0 0.0 0.0
- P»U»Y3Y»C ~ 63A0S TanasUY»ic AYAS6CT Yana-ail = 508,585.3 20,000.0 20,000.0 4,024.0 4,024.0 457,498.4 427,329.2 11,740.7 2,400.0 1,196.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 800,466.9 230,084.8 230,084.8| 20,677.4 20,677.4 427,531.0 177,153.6 151,408.6 9,181.8 9,899.9
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 143,691.1 42,795.0 42,795.0 3,430.4 3,430.4 68,409.6 29,422.4 26,100.0 1,569.8 883.4
- a0 TY I »83T3Y SAA3YUY»h 8,319.5 5,653.0 5,653.0 0.0 0.0 2,666.5 2,666.5 0.0 0.0 0.0
- TASYEAANT3ICY YIasA»i 561,873.5 123,958.4 123,958.4( 15,200.0 15,200.0 331,388.7 122,962.4 125,308.6 7,412.0 8,812.0
- 1»Y6303(CY " N3BYA3ICY eYYLC YlaiA»ii 48,249.0 19,344.6 19,344.6 2,047.0 2,047.0 25,066.2 22,102.3 0.0 200.0 204.5
- D3l YA3S W 313(CY 3 YiaoA»i 38,333.8 38,333.8 38,333.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
€ab” ek, £E20°8 328,756.5 0.0 0.0 0.0 0.0 328,756.5 328,756.5 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 313Y 133 T»AAEAIEIYY»ACY 328,756.5 0.0 0.0 0.0 0.0 328,756.5 328,756.5 0.0 0.0 0.0
31 Afadu
- éé\@péClQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 328,756.5 0.0 0.0 0.0 0.0 328,756.5 328,756.5 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 1,296,261.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAasAIAsYY»ACY 4,551.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 4,551.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 1,291,709.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYAZ6CT 1A=U3RYARNY»f &» 13 T3Y 1363 13AU3Y 3,200.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

N=wi=igy




08ET

20lase=T 01-01-01

1 2 3 4 6 7 8 9 10
T AVASOCT Ba0RT»YOC=Yoh NSUSN OV AGY 1,073,801.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“2E AVASOCT TnSUSRYARNY > 214,7075 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éélOfEZEZTZU Ua=zétu®os 21 1°Ué2Aab21U°s 444,500.0 94,500.0 94,500.0 0.0 0.0 350,000.0 0.0 0.0] 30,000.0/ 30,000.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln aA=Up 444,500.0|  94,500.0 94,500.0 0.0 00|  350,000.0 0.0 0.0| 30,0000 30,000.0
Ya3ewY»fi (plaoc»Co)
31 Atadu
- 2f YAZ&TY»A pidic»Co 444,500.0 94,500.0 94,500.0 0.0 0.0 350,000.0 0.0 0.0] 30,000.0/ 30,000.0
2UE ~‘| ZEéoé 373,407.2 54,459.8 54,459.8 176.0 176.0 289,568.5 234,621.9 51,800.0 311.9 92.0
31 Atadu
DERIon, AR S1CR Tx2RT»n T adkon, AHaT0 ‘ 17,8223 44598 44508[  176.0 1760| 11,4765  66219|  18000| 3119 92.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 355,584.9 50,000.0 50,000.0 0.0 0.0 278,092.0 228,000.0 50,000.0 0.0 0.0
32 UEU=062120 TTA1U°8E 1121 12E6°8 361,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgzpszU ofExa0U°d 361,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"U}ZlO(j °7 pEUasAVasuUCH 295,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIASYY»NG RCY SASNAGAADY 45,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TBYUmAC -~ RCYADRIGIYY»AC TSACT 3t T »13Vana-ail 250,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q?Z?U%UOB o7 é23g2T1adaigued 61,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1383 13Y 63A0=T14Ra0UY»A 61,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/EQQZTZU DExadUed 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- UBE3 - I3 13T 313Y I3Eé»i 5,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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G
e i
o : . JVIR
> S > > > > > > 0 > = <5
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817\: éﬁ\: = 817\: K Qi ’éz?\: Qi % -0 O 4 Rt

Tl gf | D[ BE [ T | fE | B8R | *E | < |givf| Y
2
11 12 13 14 15 16 17 18 19 20 21

AU)ZQOUA 12Eé°5 500,685.3| 685,291.8| 577,989.3| 527,277.2| 592,834.7| 522,776.3| 378,591.6| 506,824.7| 1,771,780.0 96,336.5( 92,829.0
3 A4l
AUAZ20LT 12Eé°5 500,685.3| 685,291.8| 577,989.3| 527,277.2| 592,834.7| 522,776.3| 378,591.6| 506,824.7| 1,771,780.0 96,336.5( 92,829.0
3 A4l
2pE2T2Ugk 12802Tda0AlasU 434,217.0| 610,325.0( 499,918.8( 443,021.8 513,078.4| 440,829.6| 314,110.0| 391,065.1| 1,384,394.8 78,770.2| 81,647.7
3 A4l
. A3VAT 1x3AT40 SREST3T3A0»A ~ NS T»E3 Tx3AY»f 434,217.0| 610,325.0( 499,918.8( 443,021.8( 513,078.4| 440,829.6| 314,110.0| 391,065.1| 1,384,394.8 78,770.2| 81,647.7
3 A4l
- ZBE3'I'é©Y»ﬁC SREST3T3A0»A " NS T»E3 Tx3AY»f 399,937.7| 562,475.5( 459,772.4( 408,596.4( 472,200.2| 406,772.1| 290,477.7| 360,765.9| 1,348,981.8 78,770.2| 81,647.7
- a3 "3TRaUY»A, 1A3UST3Y EASE&8AUY»A " N3 a1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 35,413.0 0.0 0.0
x3fAY»f
- Z3O3U3OQ3-|-3Y, 13Y3II3Y 7 AU 33Y 3 34,279.3| 47,849.5| 40,146.4| 34,425.4| 40,878.2 34,057.5 23,632.3 30,299.2 0.0 0.0 0.0
363140V»AC &3-S 1al
jZéZUéﬁAUéﬁuuoé/E o1 2462UgU°sE 36,005.9( 44,713.1 47,840.8 53,790.3| 49,348.3 51,631.0| 34,197.6( 35,4355 372,370.5 12,970.4| 11,126.3
OPeg” @oadd
3 A4l
P3AaYST313Y I1SEé»h 19,835.0 19,017.4 21,848.5| 35,349.3 28,854.4 20,183.1 14,973.3 15,174.7 64,646.3 3,327.8| 3,241.9
3 ATasl
- UY»A - » Gl 13é3(a5Ala0YY»fi 12,808.5 11,654.0 10,949.3 23,516.2 16,954.3 9,413.9 6,571.5 5,612.3 15,005.7 900.4 1,333.0
- TAU&Y3t 1363aAla0YY» 1 241.6 315.7 256.2 36.3 267.1 305.8 154.5 194.0 217.2 0.0 22.6
- T3§lQ 13é3(a5AladYY»fi 6,464.9 6,042.7 9,353.0 6,055.1 9,945.3 9,147.4 7,628.0 6,132.4 43,413.4 2,267.4 1,686.3
- 283NaT3-A=13Y I3Eé»i 320.0 320.0 360.0 320.0 320.0 320.0 320.0 320.0 3,010.0 160.0 200.0




¢8ET

20la6e=T 01-01-01

11 12 13 14 15 16 17 18 19 20 21
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 685.0 930.0 5,421.7 1,367.7 996.0 299.3 2,916.0 3,000.0 0.0 0.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 4,083.6( 11,652.0 9,868.8 4,057.8 6,582.0( 16,608.1 5,786.3 6,686.3 129,995.1 1,176.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA6YY»AC O»éup»nasy 800.0 1,683.8 1,790.0 2,700.0 1,637.0 3,272.0 1,990.0 1,362.2 80,751.5 2,300.6( 1,500.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-543(CY 1363A0AIE6YY »1 300.0 800.0 980.0 1,500.0 812.0 1,982.0 1,230.0 884.0 542.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 200.0 327.8 510.0 450.0 525.0 790.0 360.0 178.2 2,401.4 578.0 0.0
- T3ES T3S 13Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 300.0 300.0 300.0 300.0 300.0 300.0 300.0 300.0 77,235.5 1,500.0| 1,500.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 0.0 256.0 0.0 450.0 0.0 200.0 100.0 0.0 572.6 222.6 0.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 0.0 170.0 1,500.0 0.0 196.4 102.6 429.7 48.6 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 170.0 1,500.0 0.0 196.4 102.6 429.7 48.6 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 808.0 2,323.0 1,273.0 1,600.0 1,862.0 2,150.0 1,7935 3,023.0 19,063.3 1,411.6| 1,195.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63A0S TanasUY»ic AYAS6CT Yana-ail = 808.0 2,323.0 1,273.0 1,600.0 1,862.0 2,150.0 1,7935 3,023.0 19,063.3 1,411.6| 1,195.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 10,479.3 9,866.9| 11,560.5| 10,083.2( 10,216.5 9,315.2 9,224.8 9,140.7 77,914.3 4,754.4] 5,189.4
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 1,217.3 1,685.9 1,532.8 1,493.2 1,652.5 910.7 1,001.6 940.0 6,564.8 660.0 439.4
- a0 TY I »83T3Y SAA3YUY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YIasA»i 9,004.0 7,809.0 9,728.0 8,312.0 8,000.0 8,112.0 7,952.0 7,976.7 70,600.4 4,024.4] 4,750.0
- 1»Y6303(CY " N3BYA3ICY eYYLC YlaiA»ii 258.0 372.0 299.7 278.0 564.0 292.5 271.2 224.0 749.1 70.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 313Y 133 T»AAEAIEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- éé\@péClQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,551.9 4,551.9 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAasAIAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,551.9 4,551.9 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4,551.9 4,551.9 0.0
I3%W=T»A&40AIAGY Y »ACY
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYAZ6CT 1A=U3RYARNY»f &» 13 T3Y 1363 13AU3Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

N=wi=igy




€8ET

20lase=T 01-01-01

11 12 13 14 15 16 17 18 19 20 21
T AVASOCT Ba0RT»YOC=Yoh NSUSN OV AGY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“2E AVASOCT TnSUSRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éélOfEZEZTZU Ua=zétu®os 21 1°Ué2Aab21U°s 30,000.0( 30,000.0f 30,000.0f 30,000.0f 30,000.0f{ 30,000.0f 30,000.0f 80,000.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln aA=Up 30,000.0| 30,000.0| 30,0000 30,0000| 30,0000| 30,000.0] 30,000.0] 80,000.0 0.0 0.0 0.0
Ya3ewY»fi (plaoc»Co)
31 Atadu
- 2f YAZ&TY»A pidic»Co 30,000.0( 30,000.0f 30,000.0| 30,000.0| 30,000.0f{ 30,000.0f 30,000.0f 80,000.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 462.4 253.7 229.7 465.1 408.0 315.7 284.0 324.1 10,462.8 44.0 55.0
31 Atadu
DERIon, AR S1CR Tx2RT»n T adkon, AHaT0 ‘ 462.4|  2537|  229.7| 4651 4080  2237|  2840| 3241 962.8 420[ 550
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 92.0 0.0 0.0 9,500.0 0.0 0.0
32 UEU=062120 TTA1U°8E 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgzpszU ofExa0U°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
poUs©8 ©1 PEUADAUROUUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIASYY»NG RCY SASNAGAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TBYUmAC -~ RCYADRIGIYY»AC TSACT 3t T »13Vana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q?Z?U%UOB o1 é28g2i1a0a00U°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1383 13Y 63A0=T14Ra0UY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/EQQZTZU DExadUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- UBE3 - I3 13T 313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




V8ET

8§32 3VC DBVASA» TAAIBY 2017 ATSTSVC 8 W 3T3Y dic»C USeCYi 0D
Of»YUC 7-fi1 NA1T2TAT pasc» W20y T2Ee»AC - 136Y2T3Y 1263T37-U3Y 01 u=AYC 01

EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w

TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T2 TY»AC

20la6e=T 01-01-01

Pa1T=1¢ =YT=VaslA

S ATa00 AST T7=-fofiG

MafT=31CA CRE3YAAIRY, &» W 3T3Y T36313AU3Y NBYASA» T 3T3Y " W3AS 10230y T263130U3Y U3AUCYY»Ac &3Na3YaiU
(V2ESASAY»AC SPESTSTIU»AC US64T)

2 Afal AeT
T=T2/a0Y»fC

N o i o gg g
bl ozl 23 | 23 | Lel-f8z|: 2| .3 | edz|e v72z| o3
P} .m N gg i G \© =4 RN '(_}(E i @ > ol 1gg =R =] - o ;\: ol = T
® X 0‘)- (?')- & = @ = (?')- S 28 = - 0‘)& = 0 i = g (?')- lmz = 3% S0 =4 2=
e | 2328 | »E g ce |2l S| 78 | muE | S o2 s 22
8pl|=ngl| 2L pe | BEL|SETR | R A0 [ ol | E¥agl] 12
Lo | cega| 0o ) so | sgpe | =5 | 20 | gue | E=zE0 [ Q0
18 a2y 77 | Lo | <ot |ezui| s ¥ 8F | LnY |5 =EE| &b
lmC > > vl > = > f(:og > <t ~>:-L\>_ > > 8 :% > 8 :- :- > >
a8 o ' A ©
22 23 24 25 26 27 28 29 30 31 32
AU)ZQOUA 12Eé°5 90,461.3 119,125.8| 312,703.7( 74,152.0| 81,145.5 83,107.9( 84,374.8| 74,329.0| 102,246.5 97,447.4| 139,399.7
=1 Afadu
AUAZ20LT I12Eé°d 90,461.3 119,125.8( 312,703.7| 74,152.0| 81,145.5 83,107.9( 84,374.8| 74,329.0| 102,246.5 97,447.4| 139,399.7
=1 Afadu
2pE2T2Ugk 12802Tda0AUacU 81,065.5 104,858.9| 132,106.4| 65,316.8| 72,847.9 72,602.4| 72,791.2] 63,132.6| 87,434.0 80,418.8( 123,944.0
=1 Afagu
. fi=2lar 1x3A140 SRESW3T310»0 ~ NS T»E2 1x3AY»f 81,065.5 104,858.9( 132,106.4| 65,316.8| 72,847.9 72,602.4| 72,791.2] 63,132.6| 87,434.0 80,418.8( 123,944.0
=1 Afaiu
- ZBE3'I'éOY»ﬁC SRESW 313100~ NS T»E2 1x3AY»A 81,065.5 104,858.9( 132,106.4| 65,316.8| 72,847.9 72,602.4| 72,791.2] 63,132.6| 87,434.0 80,418.8( 88,531.0
- &3A- "3 RaUY»A, TABUST3Y ERA3EaieaiUY»n N3 wasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 35,413.0
Tx3AY»h
- Z3O3U3ég3-l-3Y, 1333V AT 3I3Y 3k 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=263(40Y»AC A=A - =1A&U
12&20a0AladUUCBE 1 2482UgU°sE 9,340.8 14,211.9| 180,531.3| 8,779.2 8,229.4 10,450.5| 11,539.6| 11,152.4 14,712.9 16,973.6 15,343.7
0°eg” °3a6Q
=1 Afadu
P3faiYST3T3Y ISEé»i 525.0 5,940.7 5,868.4| 2,604.9 2,584.0 2,946.9 5,016.7 4,778.9 3,192.9 9,495.4 4,560.3
=1 ATadu
- %Y»fi- » Gl 13¢3acAlasy Y»h 0.0 4,117.4 0.0 623.7 1,078.5 799.2 0.0 0.0 803.7 3,496.4 0.0
- TaU&Y3t 12¢3(a0AI40Y Y» i 0.0 49.8 0.0 0.0 34.8 0.0 0.0 0.0 0.0 21.8 0.0
- T3§lQ 136=3(a0AladY Y»fi 325.0 1,573.5 5,618.4 1,861.2 1,350.7 1,947.7 4,856.7 4,618.9 2,149.2 2,777.2 4,320.3
- 233Nai3-A313Y I=Eé»i 200.0 200.0 250.0 120.0 120.0 200.0 160.0 160.0 240.0 200.0 240.0




GB8ET

20la66=T 01-01-01

22 23 24 25 26 27 28 29 30 31 32
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,000.0 0.0
an140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0| 117,000.0 795.9 501.8 365.2 0.0 500.0 2,598.2 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA6YY»AC O»éup»nasy 1,600.0 1,500.0( 50,285.5| 1,500.0| 1,500.0 1,092.0( 1,500.0f 1,563.0 1,600.0 1,450.0 1,950.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-543(CY 1363A0AIE6YY »1 0.0 0.0 0.0 0.0 0.0 142.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 100.0 0.0 100.0 0.0 0.0 0.0 0.0 63.0 100.0 100.0 100.0
- T3ES T3S 13Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3atAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 1,500.0 1,500.0( 50,185.5| 1,500.0| 1,500.0 950.0| 1,500.0( 1,500.0 1,500.0 1,350.0 1,500.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 350.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 1,291.0 1,568.0 1,000.0 700.0 750.0 1,857.4 859.7 520.0 1,874.0 900.0 1,200.0
YiaoA»h)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63A0S TanasUY»ic AYAS6CT Yana-ail = 1,291.0 1,568.0 1,000.0 700.0 750.0 1,857.4 859.7 520.0 1,874.0 900.0 1,200.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 5,924.8 5,203.2 6,377.4( 3,178.4| 2,893.6 4,189.0| 4,163.2| 3,790.5 5,447.8 5,128.2 7,633.4
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 1,106.6 571.2 243.4 134.4 30.9 81.4 276.3 264.8 93.0 483.2 1,699.4
- a0 TY I »83T3Y SAA3YUY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YIasA»i 4,750.0 4,632.0 6,134.0( 3,044.0| 2,817.0 4,107.6| 3,839.0/ 3,507.0 5,260.0 4,645.0 5,934.0
- 1»Y6303(CY " N3BYA3ICY eYYLC YlaiA»ii 68.2 0.0 0.0 0.0 45.7 0.0 47.9 18.7 94.8 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 313Y 133 T»AAEAIEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- éé\@péClQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAasAIAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
-AYA309_I-’1ﬁ3U3BYéﬁNY»ﬁ AT3I3Y 136313003y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N3TT3ICY




98€T

20lase=T 01-01-01

22 23 24 25 26 27 28 29 30 31 32
T AVASOCT Ba0RT»YOC=Yoh NSUSN OV AGY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“2E AVASOCT TnSUSRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (plaoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 55.0 55.0 66.0 56.0 68.2 55.0 44.0 44.0 99.6 55.0 112.0
31 Atadu
DERIon, AR S1CR Tx2RT»n T adkon, AHaT0 ‘ 55.0 55.0 660[ 560 68.2 550[ 440 440 99.6 550  112.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°8E 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
DﬁgzpszU ofExa0U°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
poUs©8 ©1 PEUADAUROUUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIASYY»NG RCY SASNAGAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TBYUmAC -~ RCYADRIGIYY»AC TSACT 3t T »13Vana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q?Z?U%UOB o1 é28g2i1a0a00U°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1383 13Y 63A0=T14Ra0UY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE P/EQQZTZU DExadUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- UBE3 - I3 13T 313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




L8ET

8§32 3VC DBVASA» TAAIBY 2017 ATSTSVC 8 W 3T3Y dic»C USeCYi 0D
Of»YUC 7-fi1 NA1T2TAT pasc» W20y T2Ee»AC - 136Y2T3Y 1263T37-U3Y 01 u=AYC 01

EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w

TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T2 TY»AC

20la6e=T 01-01-01

S ATa0U ASH 115 fofiC

TaRT=1Ch CRE3YVA0AIRY, B3T3y
T26313A/03Y (3YASa»T3T3Y
TIAZIU3CY T363T3AU3Y U3AUCYY»Ac
a=la=vail (YSE3ASAV»AC
SRESTITU»AC U264T)

TaRT=21Ch CRE=VAARY, B»T3T3Y
T263T3A03Y (BVAS&»T3T3Y ~ T3AS10=3ICY
T2é313AU3Y U3AUCYY»AC &3Na3vail
(YBESA3A&AEYY»AC SRESTSTIUU»AC
U=84r)

1=EET3Y oplbs T V»AC
RCY=h=naoAlasy

=L ATa0U Aer

=L ATapU Aew

= ATaU Aer

PA1T=30C 3Yi=YasUA T=7r3hadY»ic T=7r3hadY»ic T=73ha0Y»ic
'z 2
i plen
i > > > O o> ) > > (?‘)_ > > )
LBl eeR| OB w5 L o [iiE| =R | JE | 232
CRBOZS | NS S (TR nons o g =>F nn
= o g | =i=F RO =0 =8 = 2223 -3 NI = ;=
e A R g ﬁmgﬁzc A mlCOzc RS g A m M
g M2 M - x T M R n S VIRV ] Kq0 T 0 > SITI
of :mm e e O o5 oA AT ) ) \o = e 0= B ) R
o D] g n o Semkn d Pomn w0 ] d B4l
ss vl ake| 8g |8REe| = |gETE| np | 8| < | &
l% > (.)‘\>_ > (g_\>_ 8 — > lmC > > m
33 34 35 36 37 38 39 40 41 42
AU _2@°UA 12Eé&°3s 80,237.9| 84,440.2( 87,198.6 72,244.2| 2,047,045.7| 317,395.8( 1,442,443.3| 287,206.6| 50,000.0 50,000.0
31 Arasl
AUAZ20LT I12Eé°d 80,237.9| 84,440.2( 87,198.6 72,244.2| 2,047,045.7| 317,395.8( 1,442,443.3| 287,206.6 0.0 0.0
31 Atasl
2pE2T2Ugk 12802Tda0AlacU 64,680.0| 75,358.8| 68,560.8 58,858.8| 1,856,989.8| 277,869.3| 1,309,282.8| 269,837.7 0.0 0.0
31 Atasl
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»f 64,680.0| 75,358.8| 68,560.8 58,858.8| 1,856,989.8| 277,869.3| 1,309,282.8| 269,837.7 0.0 0.0
31 Arasl
- 2RE=TA0Y»AC SRESTZT3A0»A NS T»E3 Tx3AY»f 64,680.0| 75,358.8| 68,560.8 58,858.8| 1,710,438.1| 255,158.7( 1,209,411.1( 245,868.3 0.0 0.0
- &3A- "3 RaUY»A, TABUST3Y ERA3EaieaiUY»n N3 wasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
x3fAY»f
- 230303602 13Y, 13T313Y ~ &0 313Y 3 0.0 0.0 0.0 0.0 146,551.7 22,710.6 99,871.7| 23,969.4 0.0 0.0
136=3[a0Y»AC &=3i- 3w hRal
jZéZUéﬁAUéGUL"JOé/E °1 2a62UgU°sE 13,513.9( 9,037.4| 18,593.8 5,863.4 189,319.7 39,482.5 132,479.3| 17,357.9 0.0 0.0
0°Peg” Coadd
31 Atasl
D?ﬁf’lﬁY'?_I-Q’_I_Q’Y 13Eé»h 4,947.9( 1,874.4] 2,604.8 1,135.4 74,196.0 14,942.4 55,884.0 3,369.6 0.0 0.0
3(r ATadu
- %Y»A-»WCl 13é63a0AlasYY»i 1,853.4 0.0 0.0 0.0 35,481.6 7,965.3 27,516.3 0.0 0.0 0.0
- TaU&Y3t 12¢3(a0AI40Y Y» i 46.2 275 0.0 145 684.1 0.0 684.1 0.0 0.0 0.0
- T3&C 13é63adAlasYYr»i 2,888.3| 1,686.9 2,444.8 1,040.9 35,638.3 6,817.1 25,491.6 3,329.6 0.0 0.0
- 233Nai3-A313Y I=Eé»i 160.0 160.0 160.0 80.0 730.0 160.0 530.0 40.0 0.0 0.0




88€T

20la6e=T 01-01-01

33 34 35 36 37 38 39 40 41 42
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 1,662.0 0.0 1,662.0 0.0 0.0 0.0
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AYA?(’)CT Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 478.0 478.0 4,429.0 3,629.0 800.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MiC ~ 63A0S TanasUY»Ac AYAS6CT Yana- ail 0.0 0.0 478.0 478.0 4,429.0 3,629.0 800.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 2,685.2 2,685.2 21,491.0 17,677.0 3,814.0 0.0 0.0
31 Afadu
- TASE»YIST3ICY YaiA»h " N3 - 46w 0.0 0.0 785.2 785.2 9,096.1 6,396.1 2,700.0 0.0 0.0
- TASYEAANT3ICY YIasA»i 0.0 0.0 1,900.0 1,900.0 11,339.0 10,450.0 889.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 0.0 0.0 0.0 0.0 1,030.9 830.9 200.0 0.0 0.0
- D37 ail YA 3T3(CY 3( YiaiA»n 0.0 0.0 0.0 0.0 25.0 0.0 25.0 0.0 0.0
362~®2P0369006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe3%-=CY T3S T»NA4asAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYAQ’OQT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
ZQE~‘|2Eé°6 0.0 0.0 22.0 22.0 132.0 121.0 11.0 0.0 0.0
31 Afadu
P3l»f, é’l?ﬁjl'f‘lgﬁ I'X?ﬁY»ﬁ . 'I'él’f)\]A»ﬁ, éﬁéYU ‘ 0.0 0.0 22.0 22.0 132.0 121.0 11.0 0.0 0.0
I=€3T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 33,9185 33,918.5
31 Afadu
D/E@pzizU PExAOUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 33,9185 33,918.5
31 Afadu
Dc"L"J}ZlO(j °1 bEUaAUauUPS 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 33,9185 33,918.5
31 Afadu
- P»YU»AiC * RCYAGAIAGY Y»IC Ométp»hasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 33,9185 33,9185
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T30=T»A40AlasY Y»A¢ Tadlco
USTaio 131 13¢3a0AlasYY»Aic
1CU=6 Tx3AU3Y 13Eé»fi

U=2T0O-C Yaf
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d on d 0o
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a
19 20 21 22
AU _2g°UA 12Eé°s 92,103.2 92,103.2] 11,171.9 11,171.9
=1 Afasl
AUAZ0LT 12Eé°5 92,103.2 92,103.2| 11,171.9 11,171.9
=1 Afasl
2pE2T20pk 1280210a0A0a00 0.0 0.0 0.0 0.0
=1 Afasl
_A30al 1x30140 SRESTZT3A0-A NS 13 1x3AY»A 0.0 0.0 0.0 0.0
=1 Afasl
- 2RE 'I'éf)Y»ﬁ@ SREST3T3A0»A " NS T»E3 Tx3AY»f 0.0 0.0 0.0 0.0
- 22030=6C3T3Y, 13713137~ a1 3137 3 0.0 0.0 0.0 0.0
1=630Y»AC &30 3Tl
1262020A02000°8& ©1 2a5620gU°3K 92,103.2 92,103.2 0.0 0.0
OPeg” Coadd
=1 Afasl
P14y =T=T3Y 1=Eé»h 0.0 0.0 0.0 0.0
31 AT4dU
- WY»f >0 Gl 1363aAlasYV»h 0.0 0.0 0.0 0.0
- TAU&Y3E 13é63(a0AIaY Y»fi 0.0 0.0 0.0 0.0
-13aC 1=363[aAlaryY»h 0.0 0.0 0.0 0.0
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19 20 21 22
- 283Nair=3-/=13Y I13Eé»h 0.0 0.0 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA6YY»AC O»éup»nasy 92,103.2 92,103.2 0.0 0.0
31 Afadu
- T3S T3Y 13¢3la0AlaY Y 0.0 0.0 0.0 0.0
- D3UST31-543(CY 1363A0AIE6YY »1 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0Alasy Y»h 92,103.2 92,103.2 0.0 0.0
AYA36CT Yana-ail =~ &3Na3YaoU (1363[acAlasyY»n 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MiC ~ 63A0S TanasUY»Ac AYAS6CT Yana- ail 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YIST3ICY YaiA»h " N3 - 46w 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YIasA»i 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 0.0 0.0 0.0 0.0
- D37 ail YA 3T3(CY 3( YiaiA»n 0.0 0.0 0.0 0.0
bé%QZPUééDUOB 0.0 0.0 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe31%-3ICY T3HUST»RAAAIEGYY»ACY 0.0 0.0 0.0 0.0
31 Afadu
- AYAQ’OQT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
ZQE~‘|2Eé°6 0.0 0.0| 11,171.9 11,171.9
31 Afadu
P3l»f, é?ﬁl'l'31(lﬁ I'X?ﬁY»ﬁ . 'I'él’f)\]A»ﬁ, éﬁéYU ‘ 0.0 0.0 0.0 0.0
I=€3T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 0.0 0.0| 11,171.9 11,171.9
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0 0.0 0.0
31 Afadu
D/EQPZ’I\?U PExAOUCS 0.0 0.0 0.0 0.0
31 Afadu
Dc"U}ZlO(j °1 bEUaAUauUPS 0.0 0.0 0.0 0.0
31 Afadu
- P»YU»AC ** RCYAGAIAGYY»AC O»éup»fiadu 0.0 0.0 0.0 0.0
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f TRV f TRV f 0
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plamiiN
o) o) e
1 2 3 4 5 6 7
AU b~2®chA 12Eé°5 761,276.6 326,440.3 326,440.3| 113,616.0 113,616.0 321,220.3 321,220.3
3(r ATadu
AUAZ20LT 12Eé°d 761,276.6 326,440.3 326,440.3| 113,616.0 113,616.0 321,220.3 321,220.3
=1 Afasl
2pEZ12Ugk 12002T0a0AUa00U 380,119.8| 266,503.8 266,503.8| 113,616.0 113,616.0 0.0 0.0
3(r ATadu
. A3UAT Tx3AT40 3RE3 T 3T3A0»A ~ NST»E3 Tx3AY»fA 380,119.8 266,503.8 266,503.8| 113,616.0 113,616.0 0.0 0.0
=1 Afasl
- 2RE3T1A0Y»AC SRES TS T3A0»A " NS I»ES Tx3AY»i 364,397.7 250,781.7 250,781.7| 113,616.0 113,616.0 0.0 0.0
- =0=0=0C313Y, IS S13Y - By 12137 3 15,7221 15,722.1 15,722.1 0.0 0.0 0.0 0.0
136=3[a0Y»AC &=3i- 3w hRal
jZéZUéﬁAUéf)UUOé/E o1 2a462UgU°sE 59,352.7 59,352.7 59,352.7 0.0 0.0 0.0 0.0
0ceg” °dacd
=1 Afasl
P3AaYST313Y 13Eé»h 12,183.0 12,183.0 12,183.0 0.0 0.0 0.0 0.0
=1 Afasl
“Y»A-»> W CT 1263a0Aa0Y Y»h 7,522.6 7,522.6 7,522.6 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 132.3 132.3 132.3 0.0 0.0 0.0 0.0
“T3AC 12631a0Ka0Y »hi 43281 4,328.1 43281 0.0 0.0 0.0 0.0
-2330a1=- =137 1SEe»n 200.0 200.0 200.0 0.0 0.0 0.0 0.0
TanTa0a0UY»1C ~ BAC= - SIABARIYY»NC 12 Eé»h 1,976.4 1,976.4 1,976.4 0.0 0.0 0.0 0.0
a3U3Y= -3y SE 12631a0AA0YY »AC O»EUp»iiail 32,183.0 32,183.0 32,183.0 0.0 0.0 0.0 0.0
=1 Afasl
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1 2 3 6 7
T DSUS13n-231Y 1563 1a0AaIYY »h 23,050.0 23,050.0 23,050.0 0.0 0.0 0.0 0.0
- DO ISTT3I3Y 1363(40AlA5YY» 7,544.0 7,544.0 7,544.0 0.0 0.0 0.0 0.0
TA>763031CY ~ NSYASICY 8YVAC 1363la0Aa0YY»h 100.0 1000 100.0 0.0 0.0 0.0 0.0
- U»AT3(20400521T3Y I13Eé»f 500.0 500.0 500.0 0.0 0.0 0.0 0.0
T AVINSYaAdN pYAIAC SE 1363 R0N&DY YR 989.0 989.0 989.0 0.0 0.0 0.0 0.0
2U‘E U~3éY‘3 -CHSI3Y 13¢3a0Ala0YY»AC O»étpu»iiaiu 222.0 222.0 222.0 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 222.0 222.0 222.0 0.0 0.0 0.0 0.0
AVASGCT Vaia-ai0 ~ &=Na=Yall (1=26=R0AR6V Y - 4,250.0 4,250.0 4,250.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASGCT Yana-ail ~ a3Na3Yail 1,550.0 1,550.0 1,550.0 0.0 0.0 0.0 0.0
DIV 3YoRC - 630U 1ARAUV»AC AYASGCT Yana-ail 2,700.0 2,700.0 2,700.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 8,538.3 8,538.3 8,538.3 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbA»n ~ N2 -&06 1 2,653.6 2.653.6 2,653.6 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 4,996.0 4,996.0 4,996.0 0.0 0.0 0.0 0.0
TT>63031CY ~ NSYRSICY 8YVAC VIAbA 888.7 888.7 888.7 0.0 0.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 120 Ua=2éeT1uos @i I°eUé2Aab21uU°s 321,220.3 0.0 0.0 0.0 0.0 321,220.3 321,220.3
31 Atadu
BA6CESTY 0-VAARY 1i=U=TY 3w =N=Tr A= 00 321,220.3 0.0 0.0 0.0 0.0 321,220.3 321,220.3
Ya3&uY»f (lase»Co)
31 Atadu
T2EVASE T Yon HaicnCo 321,220.3 0.0 0.0 0.0 0.0 321,2203 321,220.3
2UE 12E6°8 563.8 583.8 563.8 0.0 0.0 0.0 0.0
31 Atadu
P3AlI»A, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, af]aYu ) 263.8 263.8 263.8 0.0 0.0 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67 400
»Y UCUBY6 YI=3T1U3Up
2[f I3Eé»h 320.0 320.0 320.0 0.0 0.0 0.0 0.0
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P PP A £ [+ ATadu Aér 31 AT40U Aér 3 ATaiU Aér 31 ATadu Aér
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Bat =16 SYi=vaua agu=nA - 131 3740V»AC - IST3R80VC | 13 T3740Y»AC - 13 T3740V»C
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1ASUY»iiaT) = e 2 b
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= oy g = oy 8 = Ao = =R
£ 0L < 0 L s RIS B %= 8
3 R 3 R 3 AT ED 3 ATEN
" = " R 0 SLTw 0 ST E
d ) d U] d [ = ul d [ = ul
> a%n > % > = R > = %W
< &= < = < &2 < gty
\mm \mm > >
1 2 3 2 5 6 7 8 9
AU_20°UA 12E6°5 2,710,098.0| 1,089,632.5 1,089,632.5| 677,808.5 677,808.5] 98,660.0 98,660.0| 149,5954 149,595 4
=1 Afasl
AUAZSET 12E8°5 2,710,098.0| 1,089,632.5 1,089,632.5| 677,808.5 677,808.5| 98,660.0 98,660.0| 149,5954 149,595 4
=1 Afasl
2pEZT120U0k 1200210a0A0a0U 1,634,819.9| 1,003,8455 1,003,8455| 628,682.4 628,682.4] 2,292.0 2,292.0 0.0 0.0
=1 Afasl
_ASUAT Tx2NT40 SRES TS T30 NS TE3 TX3AY»0 1,634,819.9| 1,003,8455 1,003,8455| 628,682.4 628,682.4] 2,292.0 2,292.0 0.0 0.0
=1 Afasl
TZRESTA0V-AC SRES TS T3R00A ~ NS T3 T x3Voh 1552,1953|  921,220.9 921,220.9| 628,682.4 628,682.4] 2,292.0 2.292.0 0.0 0.0
oS0 0B6C3 TR, 1T I3Y - A 3137 SF 82,624.6 82,6246 82,6246 0.0 0.0 0.0 0.0 0.0 0.0
1=263(40Y»AC A=A - = 1A&U
1282020A000U°6E ©1 2a52UgU°0k 130,887.8 84,663.3 84,663.3| 41,3165 41,3165| 4,908.0 4,908.0 0.0 0.0
dcer” °5a6D
=1 Afasl
PSRAY T3 12Eemh 55,2426 45,389.2 45389.2| 9,803.4 9,803.4 50.0 50.0 0.0 0.0
=1 Afasl
IR -» WGl 1263 R0Aa0Y Vi 31,3944 25,073.0 250730| 63214 6,321.4 0.0 0.0 0.0 0.0
T aU&0Y3E 1263 A0Aa0Y Vo 364.4 254 4 254.4 110.0 110.0 0.0 0.0 0.0 0.0
“T=AC 1363la0Aa0Y Yo 19,7718 16,4368 16,436.8|  3,2850 3,285.0 50.0 50.0 0.0 0.0
T2a30a1 =2 -A213Y 12Ee»n 540.0 453.0 453.0 87.0 87.0 0.0 0.0 0.0 0.0
~91&0I0C  E3AUSTanAUV»AC T3N0= T Staoklany 3,172.0 3,172.0 3,172.0 0.0 0.0 0.0 0.0 0.0 0.0
Nan1400800Y»NC ~ BAc= - SA0AAYY»AC TSEe»h 16,8813 7.2188 72188 9,6625 9,662.5 0.0 0.0 0.0 0.0
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1 2 3 4 6 7 8 9
a=lU=Y= =0y S 126 A0AR0 V2 O»eUH»naiy 16,8245 3,869.4 3.869.4| 8,097.1 8,007.1| 4,858.0 4,858.0 0.0 0.0
31 Atadu
- D3UBT3n-33ICY 13¢3(a0AlA0YY»h 6,472.0 1,614.0 1,614.0 0.0 0.0] 4,858.0 4,858.0 0.0 0.0
- DO ISTT3T3Y 1363(40AIA5YY» 9,034.5 937.4 937.4 8,097.1 8,097.1 0.0 0.0 0.0 0.0
- U»AT3(206400521T3Y I3Eé»f 640.0 640.0 640.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 678.0 678.0 678.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= - Cu=T=Y 15650Ra0T Vi Ovelp»iaiy 93295 295 295| 9,300.0 9,300.0 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 93295 295 295| 9,300.0 9,300.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126 A0Ra Vi 3812.8 31128 3112.8 700.0 700.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
DU BYoRC 630U 1aRa0UV»AC AYASGCT Yana- aoU 3812.8 31128 3112.8 700.0 700.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 28,797.1 25,043.6 25,043.6 3,753.5 3,753.5 0.0 0.0 0.0 0.0
31 Atadu
- IAZe»YIRT3(CY YiaiA»n ~ N=- 46 10,676.1 8,562.6 8,562.6 2,1135 2,1135 0.0 0.0 0.0 0.0
- TH3YEAARW3ICY YlaiA»h 17,391.2 15,751.2 15,751.2 1,640.0 1,640.0 0.0 0.0 0.0 0.0
TI>63031CY ~ NSYRSICY 8YVAC VIAbA 5748 574.8 5748 0.0 0.0 0.0 0.0 0.0 0.0
DT AT YAS T ST3Y SE VIaoA h 155.0 155.0 155.0 0.0 0.0 0.0 0.0 0.0 0.0
. 6%@290369006 945,357.0 0.0 0.0 0.0 0.0] 91,460.0 91,460.0| 149,595.4 149,595.4
31 Atadu
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I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
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DﬁgzpszU ofkxa0U°d 1,981,295.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"U}ZlO(j °7 pEUasAVasuUCH 57,505.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADRIGIYY»AC TSACT 3t T »13Yana - ail 57,5051 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q?Z?U%UOB o7 é23g21adaigued 1,503,183.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1383 13Y 83A0=14Ra0UY»A 2,451.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2E U»»Y3Y»A ~ 63A03TaRa0UY»A 1,500,731.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE DEQU=120 ok2adUos 420,607.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- »aLYC3T3Y USAT»Y=3-AST3Y ISEé»i 420,607.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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AU _2@°UA 12E&°8 551,765.0| 304,372.1| 235,782.2 11,610.7( 33,007.8 33,007.8| 87,683.6 87,683.6| 271,460.7 271,460.7
=1 Afadu
AUAZ0ET 12EE°d 551,765.0| 304,372.1| 235,782.2 11,610.7( 33,007.8 33,007.8| 76,182.6 76,182.6| 271,460.7 271,460.7
=1 Afadu
2pE2T2Ugk 12802Tda0A0a0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afagu
_ABUAT 131140 SRES W3 T310»1 ~ NS I»E3 1x3Y»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afaiu
- 2RE3TA0Y»AC SRES WS T30»A " NS T»E3 1x3fY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- a3 - "3URaUY»A, 1ASUST3Y EASE&aeaUY»h NS ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[ES
- 3030306C313Y, 137 33Y ™ 7313y 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=2¢30a0Y»AC &3 - "37hal
jZéZUéﬁAUéf)UUOBIE °1 2582UgU°s8E 551,765.0| 304,372.1| 235,782.2 11,610.7 0.0 0.0 0.0 0.0 0.0 0.0
Oceg” ©dad
=1 Afadu
P=nay=1=>1=Y 1SEénn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 ATa0U
I -> 1 CT 1363 A0NE0T YR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&GY=3E 1363[a0AlaiY Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“T3AC 1363la0Aa0Y Yo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“233Ma1=-A213Y 12Ee»R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20lase=T 01-06-01

10 11 12 13 14 15 16 17 18 19
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2AT 3 - »AST»EEZT3Y [3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
an140a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 13é63[A0AIA6YY»AC O»éup»nasu 551,765.0| 304,372.1| 235,782.2 11,610.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- T3S 13Y 13¢3la0AIaY Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3ES T3S T3Y 13¢3aiAaYY»h 551,765.0| 304,372.1| 235,782.2 11,610.7 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»YBY»C ~ 63A0S TanasUY»ic AYAS6CT Yana-aiu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Uu&ﬁ@»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YIST3ICY YaiA»h " N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUc’é 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 313Y 133 T»AA&AEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCrIC=3Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 0.0 0.0 0.0 0.0| 33,007.8 33,007.8 0.0 0.0| 271,460.7 271,460.7
31 Afadu
. AiSU=RYAANY»f UCe=%- 3GY T3S T»AA4a0AB0YY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%=T»A&40AIAGY Y »ACY
AYA3OCT 1r~‘,l3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0 0.0 0.0 33,007.8 33,007.8 0.0 0.0 271,460.7 271,460.7
UST3A1=TY»CY
31 Afadu
- AYA3OQ_I- IASUSRYANNY»f a» T 313Y " N3U3IYU=3(CY 43 0.0 0.0 0.0 0.0 33,007.8 33,007.8 0.0 0.0 271,460.7 271,460.7
3¢ TA3CY 13X T»AA40AIAYY»ACY
€a0L2E2T2U Ua2éTU®s °1 T°Ué2Aab21U%s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu
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20lase=T 01-06-01

10 11 12 13 14 15 16 17 18 19
8a6CE=1=7 0-VAR=Y 1n=U= 1Y =1 =R=ln aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»i (uléoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0] 76,182.6 76,182.6 0.0 0.0
31 Atadu
D3>, é’l?ﬁ"l'31§ﬁ I’><?ﬁY»ﬁ ” 'I'él’f)UA»ﬁ, éf]{?lYU ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0] 76,182.6 76,182.6 0.0 0.0
a3Na06 T 3ICY UGGAdY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éh"?l lilﬁEUZUéZTZU 2TTEIUCHE T1a1 12Eé°5 0.0 0.0 0.0 0.0 0.0 0.0] 11,501.0 11,501.0 0.0 0.0
31 Atadu
DﬁgzpszU ofkxa0U°d 0.0 0.0 0.0 0.0 0.0 0.0] 11,501.0 11,501.0 0.0 0.0
31 Atadu
Dc"U}ZlO(j °7 pEUasAVasuUCH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADRIGIYY»AC TSACT 3t T »13Yana - ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Q?Z?U%UOB o1 é28g21a0a000°d 0.0 0.0 0.0 0.0 0.0 0.0] 11,501.0 11,501.0 0.0 0.0
31 Atadu
- 1383 13Y 83A0=14Ra0UY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2E U»»Y3Y»A ~ 63A03TaRa0UY»A 0.0 0.0 0.0 0.0 0.0 0.0] 11,501.0 11,501.0 0.0 0.0
2UE DEQU=120 ok2adUos 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- »aLYC3T3Y USAT»Y=3-AST3Y ISEé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20 21 22 23 24 25 26 27
AU)ZQOUA 12Eé°5 795,981.7 795,981.7 3,477,929.8 3,477,929.8| 114,466.7 114,466.7 2,451.5 2,451.5
3 A4l
AUAZ20LT 12Eé°5 795,981.7 795,981.7 3,477,929.8 3,477,929.8| 114,466.7 114,466.7 0.0 0.0
3 A4l
2pE2T2Ugk 12802Tda0AlasU 0.0 0.0 2,568,367.5 2,568,367.5 0.0 0.0 0.0 0.0
3 A4l
. A3VAT 1x3AT40 SREST3T3A0»A ~ NS T»E3 Tx3AY»f 0.0 0.0 2,568,367.5 2,568,367.5 0.0 0.0 0.0 0.0
3 A4l
- ZBE3'I'éOY»ﬁC SREST3T3A0»A " NS T»E3 Tx3AY»f 0.0 0.0 2,159,544.1 2,159,544.1 0.0 0.0 0.0 0.0
- &3f- 3T RAUY»A, 1ABUST3Y EASEAaUY»A " N3 Tl 0.0 0.0 247,940.2 247,940.2 0.0 0.0 0.0 0.0
x3fAY»f
- Z3O3U3OC3-I-3Y, 13Y3II3Y 7 AU 33Y 3 0.0 0.0 160,883.2 160,883.2 0.0 0.0 0.0 0.0
[363080Y»C A3h- 3 TH&U
12&20a0AUasuUCBE ©1 24a62UgU°dA 0.0 0.0 427,603.3 427,603.3 0.0 0.0 0.0 0.0
0cPeg” °dad
3 A4l
P3AaYST313Y I1SEé»h 0.0 0.0 203,506.0 203,506.0 0.0 0.0 0.0 0.0
3 ATasl
I -> 1 CT 1363 A0NE0T YR 0.0 0.0 86,016.7 86,016.7 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 1,619.2 1,619.2 0.0 0.0 0.0 0.0
TT3AC 1563 ANa0TY-h 0.0 0.0 21,000.0 21,000.0 0.0 0.0 0.0 0.0
“ZA3Na12-A=13Y 12Ee»n 0.0 0.0 2,200.0 2,200.0 0.0 0.0 0.0 0.0
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20 21 22 23 24 25 26 27
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 57,180.1 57,180.1 0.0 0.0 0.0 0.0
- 2AT 3 - »AST»EEZT3Y [3Eé»f 0.0 0.0 35,490.0 35,490.0 0.0 0.0 0.0 0.0
an140a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 12,000.0 12,000.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 13é63[A0AIA6YY»AC O»éup»nasu 0.0 0.0 30,500.0 30,500.0 0.0 0.0 0.0 0.0
31 Afadu
- T3S 13Y 13¢3la0AIaY Y 0.0 0.0 500.0 500.0 0.0 0.0 0.0 0.0
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 6,000.0 6,000.0 0.0 0.0 0.0 0.0
- T3ES T3S T3Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 0.0 0.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AlasyY»h 0.0 0.0 22,000.0 22,000.0 0.0 0.0 0.0 0.0
ZQE U?éY? -CU313Y I363(4a0Ala0YY»AC Onéup»iiasl 0.0 0.0 83,000.0 83,000.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 0.0 83,000.0 83,000.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 25,000.0 25,000.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»YBY»C ~ 63A0S TanasUY»ic AYAS6CT Yana-aiu 0.0 0.0 25,000.0 25,000.0 0.0 0.0 0.0 0.0
a=Na=vai
Uu&ﬁ@»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 0.0 0.0 73,597.3 73,597.3 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YIST3ICY YaiA»h " N3 - 46w 0.0 0.0 20,000.0 20,000.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 50,597.3 50,597.3 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 3,000.0 3,000.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUc’é 795,981.7 795,981.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 313Y 133 T»AA&AEIYY»ACY 795,981.7 795,981.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCrIC=3Y» aa YCYSYEST3Y a»n313Y 795,981.7 795,981.7 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. AiSU=RYAANY»f UCe=%- 3GY T3S T»AA4a0AB0YY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%=T»A&40AIAGY Y »ACY
AYA3OCT 1r~‘,l3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYA3OQ_I- IASUSRYANNY»f a» T 313Y " N3U3IYU=3(CY 43 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TA3CY 13X T»AA40AIAYY»ACY
€a0L2E2T2U Ua2éTU®s °1 T°Ué2Aab21U%s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu
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20 21 22 23 24 25 26 27
8a6CE=1=7 0-VAR=Y 1n=U= 1Y =1 =R=ln aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»i (uléoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 481,959.0 481,959.0| 114,466.7 114,466.7 0.0 0.0
31 Atadu
D3>, é’l?ﬁ"l'31§ﬁ I’><?ﬁY»ﬁ ” 'I'él’f)UA»ﬁ, éf]{?lYU ) 0.0 0.0 3,421.7 3,421.7 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'Efﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 473,537.3 473,537.3| 114,466.7 114,466.7 0.0 0.0
a3Na06 T 3ICY UGGAdY»h 0.0 0.0 5,000.0 5,000.0 0.0 0.0 0.0 0.0
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- 2AT 3 »AST»EEZT3Y I3Eé»f 32,258.2 0.0 0.0 32,258.2 32,258.2 0.0 0.0
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Rl Q Rl w

< N9 < 2y

B N >
a8

8 10 11
AU)ZQOUA 12Eé°5 3,262,137.9 3,262,137.9 28,201.6 28,201.6
31 Afasl
AUAZ20LT 12Eé°5 3,262,137.9 3,262,137.9 28,201.6 28,201.6
31 Afasl
2pE2T2Ugk 12802Tda0AlasU 3,061,803.8 3,061,803.8 0.0 0.0
31 Afasl
. A3VAT 1x3AT40 SREST3T3A0»A ~ NS T»E3 Tx3AY»f 3,061,803.8 3,061,803.8 0.0 0.0
31 Arasl
- ZBE3'I'éOY»ﬁC SREST3T3A0»A " NS T»E3 Tx3AY»f 3,061,803.8 3,061,803.8 0.0 0.0
-~ 3030P6C2T3Y, 1SS - &1 =157 SE 0.0 0.0 0.0 0.0
13631a0Y»AC A=A -3 TR&U
- 2F 13031 RAjAAIYY»A 0.0 0.0 0.0 0.0
T1282020A0200U°BE ©1 2a56=UsU°dk 123,108.3 123,1083 0.0 0.0
OCes” ©5200
31 Afasl
P3AaYST313Y I1SEé»h 1,940.9 1,940.9 0.0 0.0
31 Arasl
TWY»h-»> WGl 12631a0Aa0Y YA 0.0 0.0 0.0 0.0
- TAU&Y3t 1363a0Ala0Y Y» 1 140.0 140.0 0.0 0.0
- 1340 13¢3a0AladYY»ii 1,800.9 1,800.9 0.0 0.0
- 283NaT3-A=13Y I3Eé»i 0.0 0.0 0.0 0.0
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SSPT

8 9 10 11
- TatluC ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0
- 2AT 3 »AST»EEZT3Y I3Eé»f 0.0 0.0 0.0 0.0
an140a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 13,345.4 13,345.4 0.0 0.0
a3UQ3Y3 -A3ICY 3E 13é63[A0AIA6YY»AC O»éup»nasu 0.0 0.0 0.0 0.0
31 Afadu
- T3S 13Y 13¢3la0AIaY Y 0.0 0.0 0.0 0.0
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0
- T3ES T3S T3Y 13¢3aiAaYY»h 0.0 0.0 0.0 0.0
- T»Y6303(CY " NBYASICY 8YY1C 1363(40AlA0YY»ii 0.0 0.0 0.0 0.0
- U»iil3[=0640043T3Y I13Eé»i 0.0 0.0 0.0 0.0
- AYIN3YaH7 pYadlAc 3k 1=363a6AlaiY Y»h 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(aAla0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0YY»ii 0.0 0.0 0.0 0.0
AYA36CT Yana-ail =~ &3Na3YaoU (1363[acAlasyY»n 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 107,822.0 107,822.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 66,574.1 66,574.1 0.0 0.0
- TASYEAANT3ICY YIasA»i 41,247.9 41,247.9 0.0 0.0
- 1»Y6303(CY " N3BYA3ICY eYYLC YlaiA»ii 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»i 0.0 0.0 0.0 0.0
eas” é/E?/EZL"Joé 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ A>T 313Y 133 T»AAEAIEIYY»ACY 0.0 0.0 0.0 0.0
31 Afadu
- éé\@péClQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 0.0 0.0 28,201.6 28,201.6
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-=CY T3S T»NAasAIAsYY»ACY 0.0 0.0 0.0 0.0
31 Afadu
_—_AYAQ’_O'_CT 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0 28,201.6 28,201.6
UST3A1=TY»CY
31 Afadu
- 2 AYASACT 13 U3RYAANY»h 0.0 0.0 28,201.6 28,201.6
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9SYT

8 9 10 11
€a0K2E2T2U Ua2éTU®s 21 IT°U&2Aab21U%s 77,225.8 77,225.8 0.0 0.0
=1 ATaiU
GA0C3E2T3Y Sa3Nai AAIBY Ya3&TY»h 0.0 0.0 0.0 0.0
=1 ATasU
- TYSCY WY W »eaiAlaYY»AcY 1i3Ual 1x3iT1al 0.0 0.0 0.0 0.0
840C3E3T3Y =a=NaraAl3Y Tx3iY»i
- Ba0C3E2T3Y SA3NaTAAIBY uY»0»Y YASBET Y»ii 0.0 0.0 0.0 0.0
136=3[40AladYY»f U=rai6a0Y»icy
GA6CIEST3Y (-VAARY TA3UST3Y S T3N3 AA=UN 77,2258 77,2258 0.0 0.0
YaS&TY»h (Uadig»Co)
SR YEL
TSEVASE N Yon HAGCo 77,2258 77,2258 0.0 0.0
2UE 12Eé°d 0.0 0.0 0.0 0.0
SR YEL
D3I»A, &3AT31CA Tx3AY»A " waild»i, afava 0.0 0.0 0.0 0.0
T3éE3T3AU3Y T3psh UST3AL3TY»AC TA0UCO TCizéTail
»Y UGUI=Y6 YT=wU=0p
2 I3Eé»f 0.0 0.0 0.0 0.0
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LSYT

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T24-U3Y 03 p=AYC 01

EUNGC 02 136G 1A= -AvfC - Tal N2e =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 163 -Cr3T3Y 1363T30- 03V N4 T2 1V»A¢

D‘? iI»T3INS5
20i466=3T N 03-01-02

S ATa0l ASH T7=-fofiG

2y 3CY BT T3 - HABY
=5=Naraiu

= ATa00 Aer

=1 ATadu

AVIZU»YA - TS 3A40VAC
B 130 pE =
PALT3IC 3V T3YaUA - 40US7iA ; o
(V== = eTle
1A3UY»Aar) < 8 & ’;‘(oﬁ Rt
I mLR
T IR
g b o @
<L :0)_ % O\
2"
1 2 3
AU_=g°UA 17E6°5 20,216,956.3| 20,216,956.3|  20,216,956.3
s ATail
AUA=GAT 12E6°5 20,065,456.3| 20,065,456.3|  20,065,456.3
3 Afail
2PE=12Upk 12302 1620AUA0U 16,541,095 3| 16,541,0953|  16,541,2953
3 Afasl
_AUAT Tx2R140 SRES T 13050 N2 1oE= [x3AVo 16,541,095 3| 16,541,0953|  16,541,2953
3 Afail
TRESTAOV-IC SRES TS 13000~ NS 163 1x 3TN 16,470,975 3| 16,470,9753|  16,470,975.3
TSF T3R0S 1 MaOARY YT 70,320.0 70,320.0 70,3200
1282020AUR600°8K ©1 2a52UpUo8k 2.832,0405| 2,832,9405|  2,832,0405
0°eg” ©5200
3 Afasl
PSRN ST=T=Y [SEeh 1,061,0788| 1,061,078.8 1,061,0788
3 Afasl
IR N CT 1363 T0REY Yo 755,8113| 7558113 755,811.3
TTAUAYSE 156 SlaoNaT Yo 96,2675 96,2675 96,2675
TTSAC 1565 GRaNoh 187,0000]  187,000.0 187,000.0
T2E3Na13 7313V 1SEenh 22,000.0 22,0000 22,0000
AR TA0&I0Y-C ~ Ric= - SIAOAAIVY»AC 1SEenh 400,000.0] _ 400,000.0 400,000.0
a=lU=7= AT S 1263 ROARIVY»NC O»6Up»nady 139,300.0]  139,300.0 139,300.0
3 Afasl
TDIUSTSR-23KY 1563 ANaYh 104,800.0]  104,800.0 104,800.0
TUnISE0a0653T3Y 1SEénn 22,500.0 22,5000 22,5000
TAVARSYaon [y aoAC SE 1563a0NaT YR 12,0000 12,000.0 12,000.0
SEUSEY3 Cra13Y 1563 R0NAY-NC OneUonail 30,000.0 30,000.0 30,000.0

20la66=T 03-01-02



8SYT

1 2 3
CO=eV= - T 313 1363 GAaY Yoh 30,000.0 30,000.0 30,000.0
AVASGCT Vaia-ai0 ~ &=Na=Yall (1=26=R0AR6V Y - 27,0000] 27,0000 27,000.0
YlaoA»fi)
31 Atadu
TPoYnAG  T36a0I0Y»1C AYASOCT Yana-al -~ a=Nasvail 14,0000 14,000.0 14,000.0
DUV 3YoRG  63AUS1aRa0UY»AC AYASOCT Yana-ail 13,0000 13,000.0 13,000.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 1,175,561.7 1,175,561.7 1,175,561.7
31 Atadu
“NASEVIBT3Y VidoAnn N2 -&06 1 241,5088|  241,508.8 241,508.8
- a0 TY T »E3T3Y SAA3YuY»A 27,009.3 27,009.3 27,009.3
TARSYeRAN T 3CY VIAA N 590,836.0]  590,836.0 590,836.0
TT-V63030CY ~ NSYASICY 8YYAC Viaohnh 277.33L1|  277,33L1 277,331.1
TPITAT YASTII3CY 3L Viaohwn 38,8765 38,876.5 38,8765
éaOfEZEZTZU Ua=2étuos 21 1°Ué2Aab2T1U°s 33,357.6 33,357.6 33,357.6
31 Atadu
BA6CESTY 0-VAAPY 1=U=TY 3w =N=Tr &A= 00 33,357.6 33,357.6 33,357.6
Ya3&uV»f (lase»Co)
31 Atadu
“2EVA3ETYon HaienCo 33,357.6 33,357.6 33,357.6
2UE 12E6°8 657,862.9]  657,862.9 657,862.9
31 Atadu
P3AT»A, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, af]aYu ) 7,500.0 7,500.0 7,500.0
IS63T3USY W3 USTSAS1Y»i¢ 1a0UC6 TCA=67 400
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 650,362.9 650,362.9 650,362.9
élé lilﬁEUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 151,500.0 151,500.0 151,500.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 151,500.0 151,500.0 151,500.0
31 Atadu
Dc"[.{ﬂo(j °7 pEUasAVasuUCH 135,000.0 135,000.0 135,000.0
31 Atadu
“P»YmAG - RCYASAIARYY »NC RCY SNSRAA&Y 25,000.0 25,000.0 25,000.0
- b»YU»AC * RCYASAIAGYY»AC TS ACT 3t 1 »A3Yana-ail 110,000.0 110,000.0 110,000.0
Q?Z?U?Uoé o1 é28g21a0a000°s 5,000.0 5,000.0 5,000.0
31 Atadu
- I3RS T3Y 63A0=T14Ra0UY»A 5,000.0 5,000.0 5,000.0
2UE pAPU=120 0E2a00°0 11,5000[  11,500.0 11,500.0
31 Atadu
T34 VIRAST3Y NQUYST3Y UCcadymh 7,500.0 7,500.0 7,500.0
- USE3-ISN» T3AT1T313Y I3Eé»i 4,000.0 4,000.0 4,000.0
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6SYT

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T24-U3Y 03 p=AYC 01

EUKG 03 136G 1A= -AvfiC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
ISEe»AC TV 1»63-Cr3T3Y 1363T3h- 03V N4 T2 1V»A¢

S ATa00 AST T7=-fofiG

a» =13y a=3Nasvashi=y
=5=NaraiU

=1 ATl Asr

AVIZU»YA - TS 3A40V»AC
o G pe
PATTZ1C 3V T=V450A -40USHA v N
(== K= 70
1A3UY»iar) < LIS g
S n 8L
= =0
] o0 % 0
P anl
o
1 2 3
AU_=0°UA 12E6°5 2,765,776.6] 2,765,776.6 2,765,776.6
=31 AT450
AUAZET 12E6°8 2,765,776.6| 2,765776.6 2,765,776.6
=31 A4l
2PE=7120gk 1260=1620A0a00 2,154,373.5| 2,154,3735 2,154,373 5
=31 Afas0
_TPUAT 1x=0140 SRES1=130000 N2 126 XS o1 2,154,373.5| 2,154,3735 2,154,3735
31 Afasl
TZRESTA0C SREST 2130000~ N2 162 [x3AVoh 2,154,373.5| 2,154,3735 2,154,3735
12820a0A020600°8E ©1 2a82UpU° Bk 492,118.2| 492,182 492,118.2
0°p” ©5200
=31 Afasl
bSRAI=T=T>Y 15Eenn 59,3525 59,3525 59,352.5
=1 Afasl
IR - W CT 1363 R0AEYYoh 35.2742|  35274.2 352742
TTaUAY3E 1363 ANaYYoh 37928 3,792.8 3,792.8
T340 1363 R0N&VTh 15,0000  15,000.0 15,000.0
T2E3Na13-A313Y 13Ee»n 5,250.0 5,250.0 5,250.0
“qA00C ~ E63n0= TAnAUY»AC 110> T3Ea0AE0Y 355 355 355
TNaRTa00&0V>1C ~ RAc=S - SIAAAIYY»AC TSEe»h 95,3000]  95,300.0 95,300.0
aSIU=Y= - A=Y SE 126 1R0NAIVT »iC O»et»iias0 12,7000  12,700.0 12,700.0
=31 Afas0
OIS IST3Y 1363aAaYY»h 2,600.0 2,600.0 2,600.0
TI>V6303I0Y - NSYRSKGY 8YV2C 12363 R0AEYVoh 500.0 500.0 500.0
T U»RT=E686652 137 12Eénh 3,600.0 3,600.0 3,600.0
TAVINSVa0R (YA0AC 3k 1263 R0Na0Y Y 6,000.0 6,000.0 6,000.0

D‘? iI»T3INS5
200466=3T N 03-01-03
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1 2 3
2EUS6Y= -G =T 156=0Ra0T V-G OveU»iaiy 1,450.0 1,450.0 1,450.0
31 Atadu
- @3EY3S-CU313Y I363aAlabYY»ii 1,450.0 1,450.0 1,450.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 78,0000| _ 78,000.0 78,000.0
YlaoA»fi)
31 Atadu
- b»YU»AC " T3¢adloY»AC AYASOCT Yana-ail =~ A3Na3Yail 5,000.0 5,000.0 5,000.0
DUV 3YoRG  63AUS 1 aRa0UY»AC AYASOCT Yana-ail 73,0000|  73,000.0 73,000.0
asNa=vail
UlaAon (FRR=V0Y»1) 245315.7| 2453157 2453157
31 Atadu
“NASEVIBT3Y VidoAnn N2 -&06 1 74442.7|  14.482.7 74,442.7
TARSYERAN T 3CY VIAA N 1652081 1652081 165,208.1
TT-763031CY ~ NSYASICY 8YYAC Yiaohnh 46775 46775 4,677.5
TPITAT YASTII3CY 3L Viaohon 987.4 987.4 987.4
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 18,0849| 18,0849 18,084.9
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln aA=Up 18,0849| 18,0849 18,084.9
Ya3ewY»i (uléoc»Co)
31 Atadu
“2EVA3ETYon HaienCo 18,0849| 18,0849 18,084.9
2UE ~‘| ZEéoé 101,200.0 101,200.0 101,200.0
31 Atadu
D3RIon, AR S1CR Tx2RT>n T alkoR, AHaT0 ‘ 12000  1,200.0 1,200.0
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 100,000.0 100,000.0 100,000.0
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Tov1

8§32 T3VC DBYASA» TAAIBY 2017 ATSTSVC 8» W 3T3Y dsc»C USeCYi 0D
Af»YOC 7-A1 NALT2TAT piaicr T 3CY TSE»AC -4f1=26Y=T3Y 1363T37-U=Y 03 p=AYC 02
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w

TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T2 TY»AC

D‘? iI»T3INS5
200466=3T N 03-02-01

S ATl ASH T7= - fofiC

TarT=1Ch CRE=VasAl=Y,
T3T3Y T36313AU3Y
NSYAS&»T3T3Y

T30Sy T3¢=T3a0=3Y

U=AUCYY»AC A=NA=YA
(V2E3f=a5ARYV»AC

BAT=A= [=63laAl=Y
N=U=1=
ETARZUSA=VAUY»AC
a={a=vail

Avazisva | SRE=TST3W0sAC U=sar)
ot e =i Afasl As =h A4l Aer
PALT=1G =Y T=YaiUA -&6U=AA I rrad e VAL
(N=y%=H = 1=1=na0Y»nC - 13T 31a0Y»N¢
1RB0Y»AAT) = o = o
< =28 < -z 8
N VTS A MM
D % D - x ()
Ul c O [U] e O
d =0 d n=0
= 04U = 0 4l
' 850 < 850
(.)’\>_ >
1 2 3 4 5
AU_20°0UA 12E6°6 8,608,096.5| 1,177,757.1 1,177,757.1| 7,430,339.4 7,430,339.4
3 A4l
AUAZOAT 12E6°5 8,608,096.5| 1,177,757.1 1,177,757.1| 7,430,339.4 7,430,339.4
3 A4l
2pE2120gk 1280210a0A0a0U 7,704571.3| 1,069,905.3 1,069,905.3| 6,634,666.0 6,634,666.0
3 A4l
_n=UAT 1x2n140 SRES NS T2A000 N2 102 IxSAY»h 7,704571.3| 1,069,905.3 1,069,905.3| 6,634,666.0 6,634,666.0
3 A4l
T2RESTAOY»NC SRES NS TR0~ N2 ToE= IXSAY N 7,596,100.6|  978,510.0 978,510.0| 6,617,590.6 6,617,590.6
T@=0=0=00S13Y, BN SIS By N S12Y 3 108,470.7 91,3953 91,3953 17,0754 17,0754
1=6=2(40V»AC A=A =140
1282020AUa000°8K ©1 2a0620sU°8k 718,789.1|  106,289.2 106,289.2| 612,499.9 612,499.9
0ceg” ©5a60
3 A4l
PSRAY S 1=T=3Y 1=E6x 237,818.8 68,094.9 68,094.9| 169,723.9 169,723.9
3 A4l
“I>h-> W CT T26SA0AE0Y V>R 149,600.7 52,739.0 52,739.0|  96,861.7 96,861.7
-~ TaU&0Y =t 1=26=1a0Ala0Y Vi 19,642.1 602.7 602.7|  19,039.4 19,039.4
“T=3C 1=6=a0Aa0Y Vi 47,4400 14,113.2 14,1132| 33,326.8 33,3268
“2a=Mai=-A=1=3Y 1SEexh 12,760.0 640.0 640.0]  12,120.0 12,120.0
“Y&00C T 6=AU=TANA0UY»AG T 210> 1 SEabAIADY 8,376.0 0.0 0.0 8,376.0 8,376.0
ManTa00a00Y»>NG ~ RAC= - SIA0ARGYY»NG 1= Ee»h 48,587.7 4,691.7 4,691.7| 43,896.0 43,896.0

20la6e=T 03-02-01
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1 2 3 4 5
a=lU=Y= =0y S 126 A0AR0 V2 O»eUH»naiy 13,1230 4,301.0 4,301.0 8,822.0 8,822.0
31 Atadu
- DBUST30-53CY 13E63atAlasYY»h 4,446.0 2,624.0 2,624.0 1,822.0 1,822.0
- DO IBTT3T3Y 136340Ala5YY»A 3,677.0 1,677.0 1,677.0 2,000.0 2,000.0
- U»Al13[20640653T3Y 13Eé»i 5,000.0 0.0 0.0 5,000.0 5,000.0
2EUSEY= - Cu=T=Y 15650Ra0T Vi Ovelp»iaiy 3,000.0 0.0 0.0 3,000.0 3,000.0
31 Atadu
TO3eVE-CT 313 1363&AaYoh 3,000.0 0.0 0.0 3,000.0 3,000.0
AVASGCT Vaia-ai0 ~ &=Na=Yall (126> R0AR6 Y - 6,255.0 6,255.0 6,255.0 0.0 0.0
YlaoA»fi)
31 Atadu
DUV 3YoRG  63AUS1aRa0UY»AC AYASOCT Yana-ail - 6,255.0 6,255.0 6,255.0 0.0 0.0
asNazvail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 410,004.6 22,946.6 22,946.6 387,058.0 387,058.0
31 Atadu
- 1A=é»YIBT3(CY YiaiA»f =~ N3- 406w 96,973.5 4,289.7 4,289.7 92,683.8 92,683.8
- a0 TY T »E3T3Y SAA3YuY»A 2,038.5 0.0 0.0 2,038.5 2,038.5
- TA3YEA4AT3(CY YlaiA»f 278,831.9 13,969.0 13,969.0 264,862.9 264,862.9
TT-763031CY ~ NSYASICY 8YYAC Yiaohnh 53555 4,687.9 4,687.9 667.6 667.6
TPITAT YASTII3CY 3k Viaoh»n 26,805.2 0.0 00| 26,8052 26,805.2
éélOfEZEZTZU Ua=2éTu°s @i I1°eUé2Aab21U°d 157,589.5 0.0 0.0 157,589.5 157,589.5
31 Atadu
’éééC3E3_|-3Y 0-YalAIRY 1A3UST3Y 3 3N3raiAlSup 157,589.5 0.0 0.0 157,589.5 157,589.5
Ya3&wV»f (lase»Co)
31 Atadu
- I»YESAARZIC BYOY»Ea0 N> I1BA&T31 " W 3AC0u3ICY 157,589.5 0.0 0.0 157,589.5 157,589.5
Ya&3&rY»h plasc»Co
2UE ~‘| ZEéoé 27,146.6 1,562.6 1,562.6 25,584.0 25,584.0
31 Atadu
D3AlI»A, &3AW31CA Tx3AY»A ~ waild»i, afayo 27,146.6 1,562.6 1,562.6 25,584.0 25,584.0

12631302 T3P USTSALSTY»AC TA0UC6 TCR=6T40U
»Y UCUIBY6 YT=3wU=30p

20la6e=T 03-02-01



€ovT

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaicr T 3CY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 03 p=AYC 03
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

D‘? iI»T3INS5
20046631 N 03-03-01

20la6e=T 03-03-01

S ATa0l AST 173 -fofiG

pp =(U=y=1A3T3Y
1=73{3Y¢ a={a=vaiU

WISV 3TAC
N=AT=CA T=r=hai0y
3&3Naial 1=3é3ABY

pp =(U=y=1/3T3Y

13Y3A[3YC

a=lasen =gy yavye

PP 12T 3ASYY»C
&=Nasewr=3ICY yavs

a={a=vail
AY13U»YA = Afasl Aer = A7asl Aew = Aja0U A8 = A7a00 Asw
o 136C - T=0=[a0Y»C - T=1=040Y»AC - T2 31a0Y»AC - T=T=/80Y»iC
PA1T=1C =Y =YaiUA -G0U=A N, — N, - N, — N,
(N==h ) il ) 0% ) il ) -
1A3UY»Aar) RS 0 - = L8 & . RS 6.-2:
c N =i’ U a
= R 3 =3 3 R 3 nw
3 > 3 20 3 > 3 -
f 0 - f n e f - f M ic
g 20 g e 0 g 20 g a0
< me < 0 < me < 87
o W > w Ll
a 0 a
1 2 3 4 5 6 7 8 9
AU_2g°0A 12E&°5 10,569,239.6| 577,788.2 577,788.2| 1,351,386.8 1,351,386.8| 11,555.7 11,555.7| 169,490.3 169,490.3
= A7 400
AUAZSET 12E&6°98 10,569,239.6| 577,788.2 577,788.2| 1,351,386.8 1,351,386.8| 11,555.7 11,555.7| 169,490.3 169,490.3
= A7 400
2pEZ12Ugk 12002T0a0AUa00U 9,071,956.1| 490,173.1 490,173.1| 1,111,308.0 1,111,308.0 0.0 0.0 0.0 0.0
= A7 400
_ABUAT 1x3N140 SRES W ST20050 N2 12 XSV »h 9,071,956.1| 490,173.1 490,173.1| 1,111,308.0 1,111,308.0 0.0 0.0 0.0 0.0
= A7 400
- 2RESTA0V»AC SRES N ST 3A05A NS 1562 Ix3NY»1 8,582,835.3| 463,015.7 463,015.7| 1,017,110.4 1,017,110.4 0.0 0.0 0.0 0.0
- 23020360312, 13213V - A n =137 3F 489,120.8 27,157.4 27.157.4| 94,1976 94,197.6 0.0 0.0 0.0 0.0
126=3(40Y»AC &= - "3R4l
12820a6AUa600°8K ©1 2a020sU°0k 1,276,026.8| 87,145.1 87,145.1| 216,508.8 216,508.8 0.0 0.0 0.0 0.0
0°es” ©5260
= A7 400
P2RaIV=1=13Y 12Eé»h 834,256.5| 21,760.0 21,760.0| 121,337.1 121,337.1 0.0 0.0 0.0 0.0
= A7 400
“UY»ii-> 0 CT 1=26=1a0AIa0Y Y»h 347,144.8| 11,0314 11,031.4|  58,935.0 58,935.0 0.0 0.0 0.0 0.0
- TaUaoY =t 1=6=la0kasy »n 27,6486 1,596.0 1,596.0 5,960.0 5,960.0 0.0 0.0 0.0 0.0
“T=AC 1=26=1a0Aa0YY»h 2473890 8,220.6 8,220.6]  46,560.0 46,560.0 0.0 0.0 0.0 0.0
-2&83Nai == 12Y 12Eé»n 2,712.0 912.0 912.0 520.0 520.0 0.0 0.0 0.0 0.0
- A0IC  E=NU=TaNA0UY»NC 1 =M0=1=taoAa0y 9,362.1 0.0 0.0 9,362.1 9,362.1 0.0 0.0 0.0 0.0
ManT1a00a00V»NC -~ RAG= - SIA0AIABYY»AC 12 E i 47528.7| 15,091.7 15,091.7 4,217.0 4,217.0 0.0 0.0 0.0 0.0
a=lU3V= A3y 3E 1263a0AA0YY»NG 0»etp»Nal 99,990.9| 21,823.0 21,8230  26,444.0 26,4440 0.0 0.0 0.0 0.0
= A7 400




12%14"

20la6e=T 03-03-01

1 2 3 4 5 6 7 8 9
T DSUS13n-231Y 1563 1a0AaIYY »h 46,7675 300.0 300.0 9,100.0 9,100.0 0.0 0.0 0.0 0.0
- DO ISTT3T3Y 136340Ala5YY»A 16,589.4 5,733.0 5,733.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3E63 T3 13Y 136340AlasYY»i 17,344.0 0.0 0.0 17,344.0 17,344.0 0.0 0.0 0.0 0.0
- U»AI32064068313Y 1=Eé»i 19,290.0 15,790.0 15,790.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =Ty 1363 1R0AA0VT»1C O»6Upmiiail 12,019.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 12,019.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 251070 4,550.0 4,550.0 3,107.0 3,107.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASGCT Yana-ail ~ a3Na3Yail 10,0000| _ 3,000.0 3,000.0 0.0 0.0 0.0 0.0 0.0 0.0
DIV 3YoRC - 63003 1ARAUY»AC AYASGOCT Yana-ail 15,1070| 15500 1,550.0 3,107.0 3,107.0 0.0 0.0 0.0 0.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 257,124.0| 23,920.4 23,920.4 61,403.7 61,403.7 0.0 0.0 0.0 0.0
31 Atadu
- AZE»YIRT3(CY YiaiA»n ~ N=- 46 176,723.7 3,018.3 3,018.3 48,136.8 48,136.8 0.0 0.0 0.0 0.0
- TH3YEAARW3ICY YlaiA»h 66,066.0| 20,452.0 20,452.0 12,350.0 12,350.0 0.0 0.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAtA 11,0143 4501 4501 916.9 916.9 0.0 0.0 0.0 0.0
TP &T YAS T ST3CY SE VoA h 3,320.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 12U Uaz2étuesd ©i I°eué=2Aap21U°s 29,400.0 0.0 0.0 22,200.0 22,200.0 0.0 0.0 0.0 0.0
31 Atadu
BA6CESTY 0-VAARY 1i=U=TY 3w =N=Tr A= 00 29,400.0 0.0 00| 22,2000 22,200.0 0.0 0.0 0.0 0.0
Ya3&uY»f (lase»Co)
31 Atadu
T2EVASE T Yon HaicnCo 29,400.0 0.0 00| 22,2000 22,200.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 191,856.7 470.0 470.0 1,370.0 1,370.0| 11,555.7 11,555.7| 169,490.3 169,490.3
31 Atadu
P3AT»A, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, af]aYu ) 10,810.7 470.0 470.0 1,370.0 1,370.0 0.0 0.0 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67 400
»Y UCUBY6 YI=3T1U3Up
2 I3Eé»i 181,046.0 0.0 0.0 0.0 0.0] 11,555.7 11,555.7| 169,490.3 169,490.3
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaicr T 3CY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 03 p=AYC 03
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

S ATa0l AST 173 -fofiC

DD 1WAV Y»iiC
a3Nasvail

31 ArasU A
T=12RA0V»AC

=1 ATadu

PALT=1C 3V T=VaiUA 3

S - -

] Ry

< ]°C

o

10 11
AU_2@°UA 126655 84500186  8450,0186
=i Afail
AUAZGET 12E6°5 84500186  8450,0186
30 Afail
ZhEZ1200k 12802 1686A0860 74704750 7.470.4750
=i Afail
_RSUAT 1x=n180 SRESTSTSR0-0 ~ NS T»E2 xVon 74704750 7.470.4750
30 Afail
TERESTA0V>AC SIESTS TSR0 -~ NS 1703 IxSAVHR 7.102,7002| _ 7.102,70922
T 020506031, 1B ST~ A n =15y SF 367,765.8 367,7658
[36310V»C 437 = fal
12620a6AUa60U°SK ©1 2462003k 972,372.9 972,372.9
0°es” ©8200
3 Afail
PSRAVSISTY ISEen 691,159.4 691,159.4
3 Afail
TR > CT 1SS aAaYon 277.178.4 277.1784
TaU&VSt 156 RN oh 20,092.6 20,092.6
TTSAC 1563 @NaT VR 392,608.4 392,608.4
T2&5NaTS ReT=Y SEeh 12800 1.280.0
“YE0C -~ ESR0= TARAIUTAG TR0 TSRsNaN 00 00
AR a0 UY»1C ~ Big= - SRONEIVY»C TSE8» 28,2200 28,2200
a3lUV= - ALY SE 1265 BOREIY»TC O>60>hail 51,723.9 51,723.9

20la6e=T 03-03-01



99%T

10 11
“DSUS13R- 33y 15631a0AaIYY »h 37,3675 37,367.5
- DO IBTT3T3Y 136340Ala5YY»A 10,856.4 10,856.4
- T3E3T3AS13Y 1363(a0Ala0YY» 0.0 0.0
- U»AT=3[306400431T3Y 13Eé»i 3,500.0 3,500.0
2EUSEY= -0 =Ty 1363 1R0AA0VT»1C O»6Upmiiail 12,019.7 12,019.7
31 Atadu
TO3EVE - 313 1363 aAaYoh 12,019.7 12,019.7
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 17,450.0 17,450.0
YiaoA»h)
31 Atadu
TPoYnAG  T36a0I0Y»1C AYASOCT Yana-al -~ a=Nasvail 7,000.0 7,000.0
DUV 3YoRG  63AUS1aRa0UY»AC AYASOCT Yana-ail 10,450.0 10,450.0
asNa=vail
Oléthoft (2&A=Y0Y»i) 171,799.9 171,799.9
31 Atadu
“NASEVIBT3CY VidoAnn N2 -&06 1 125,568.6 125,568.6
TARSYERAN T3CY VIAA N 33,264.0 33,264.0
TT-Y63031CY ~ NSYASICY 8YYAC Yiaoh»h 9.647.3 9,647.3
TPST&T YASTII3KY 3L Viaohwn 3,320.0 3,320.0
éat‘)ﬁZE? 12U Uaz2étuesd ©i I°eué=2Aap21U°s 7,200.0 7,200.0
31 Atadu
BA6CESTY 0-VAARY 1i=U=TY 3w =N=Tr A= 00 7,200.0 7,200.0
Ya3&uY»f (lase»Co)
31 Atadu
“2EVA3ETYon HaienCo 7,200.0 7,200.0
2UE 12E6°8 8,970.7 8,970.7
31 Atadu
P3AT»A, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, af]aYu ) 8,970.7 8,970.7
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67 400
»Y UCUBY6 YI=3T1U3Up
2 I3Eé»i 0.0 0.0

20la6e=T 03-03-01
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaicr T 3CY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 03 p=AYC 03
EUUC 02 126G Th=-fixAC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=YaUY A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

P2i»ET3INS5

200a56=3T N 03-03-02

20la6e=T 03-03-02

S ATl ASH T7=-fofiG

DD US40 Gz TasYUY»fiC
A3 A3YC
SPESTSTUC
&=N&=YU3Y I3Eé»h

DRVACY ANTAZYC.
-fiZé»Y[=T¢ a=a=vail

Pb U=1145

CAZ TAOYUY»AC

A=RTa=Ve

SRESTST3UC
T=1a04sAIa6YY»iC

%3i- 2640

L33 T3na0AlAYY»ACY
AVL.ATT3T A3A-USYCAY»fC,
+&f0=3 -» W Y»AC ~ TT3Y»AC
13A031RasAlasy

AY130»YA —— — —— —
136(¢ 31 AtadU Aer 31 Atadu Aér 3 Atadl Aér 3 Atadl Aér
PA1T=3IC 3Yi=YasUA - §GU3ﬁA \— T3r3na0Y»fic \— T=7r3ha0Y»ic \— T30 3ha0Y»AC \— T30 3na0Y»fic
(N=y%=H = b . b b
1H2UY»A4T) 0 , o 0> 0 , 0 -
= gg % = If:(oﬁ ;g = gg % = (?')_ I>,:
< G ) - < -3 < G ) = < -
5 BoR 5 g 5 B 5 0
) S - > 8 a0 S S ) =
f 0SSy f N f 0SSy f M i
o &mm.m o e o &mm.m o o M
,z ' o) 2 z R ,z ' o) 2 ,z 8 o§
(S o (Q_ (S &
M
1 2 3 4 5 6 7 8 9
AU)ZQOUA 12Eé°5 672,072.1| 262,440.0 262,440.0| 377,272.1 377,272.1| 1,860.0 1,860.0 15,500.0 15,500.0
3 ATasl
A‘L"JAZ(‘)/ET 12Eé°8 670,212.1| 262,440.0 262,440.0| 377,272.1 377,272.1 0.0 0.0 15,500.0 15,500.0
3(r ATadu
2pE2T2Ugk 12802Tda0AlasU 197,335.1( 197,335.1 197,335.1 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
. ﬁ3~Uél' ‘I'><3ﬁ 740 SREST3T3A0»A ~ NBT»E3 Tx3AY»f 197,335.1( 197,335.1 197,335.1 0.0 0.0 0.0 0.0 0.0 0.0
3(r ATadu
- 2RE 'I'éf)Y»ﬁ@ SREST3T3A0»A " NS T»E3 Tx3AY»f 183,917.7( 183,917.7 183,917.7 0.0 0.0 0.0 0.0 0.0 0.0
- Z3O3U3GQ3-I.3Y, 13Y3I3Y 7 A1 33Y 3 13,4174 13,417.4 13,417.4 0.0 0.0 0.0 0.0 0.0 0.0
136=3[a0Y»AC &= -3 hRal
jZéZUéﬁAUéf)UUOB/E o1 2462UgU°sE 76,406.9 60,906.9 60,906.9 0.0 0.0 0.0 0.0 15,500.0 15,500.0
0°eg” Coadd
3 A4l
D?ﬁf’lﬁY'?_l-Q’_I_?’Y 13Eé»f 14,632.0 14,632.0 14,632.0 0.0 0.0 0.0 0.0 0.0 0.0
3(r ATadu
“UY»i-> 0 CT 12631a0AIE0Y Y»h 4,307.1| 4,307.1 4,307.1 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 82.6 82.6 82.6 0.0 0.0 0.0 0.0 0.0 0.0
“ T340 1=2621a0Aa0Y Yh 6,048.3| 6,0483 6,948.3 0.0 0.0 0.0 0.0 0.0 0.0
- 233NAT3-A313Y I3Eé»f 450.0 450.0 450.0 0.0 0.0 0.0 0.0 0.0 0.0
~9TA00C ~ 6=nU=TanalV»nC T =2R0= T SEa0A&sY 2,844.0| 2,844.0 2,844.0 0.0 0.0 0.0 0.0 0.0 0.0
ManT1a60a00V»NC ~ RAG= - SIABAIABYY»AC TS Eexh 18,7189| 18,7189 18,718.9 0.0 0.0 0.0 0.0 0.0 0.0
a3U3Y3-nA3ICY 3 13é3a0AladYY»NC O»euu»haiu 22,241.0 6,741.0 6,741.0 0.0 0.0 0.0 0.0 15,500.0 15,500.0
3 A4l




89T

20la5e=T 03-03-02

1 2 3 4 5 6 8 9
- PSS T3Y 1363(a0AlaiYY»h 15,000.0 0.0 0.0 0.0 0.0 0.0 0.0 15,000.0 15,000.0
TD3UST3R-33KY 1563laAaiv Y h 12350 12350 1,235.0 00 00 0.0 0.0 0.0 0.0
- DO ISTT3I3Y 1363(40AlA5YY» 1,932.0 1,932.0 1,932.0 0.0 0.0 0.0 0.0 0.0 0.0
- T2E3 353 13Y 1363(a0Ala5YY»Hh 500.0 0.0 0.0 0.0 0.0 0.0 0.0 500.0 500.0
- U»AT3(20400521T3Y I13Eé»f 2,700.0 2,700.0 2,700.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3Yan pYadlAC 3lE 13é3adAladYY»h 874.0 874.0 874.0 0.0 0.0 0.0 0.0 0.0 0.0
AVASGCT Vana-ail ~ B=Na=Yall (=& RoAG0TIoh - 82184| 82184 8,218.4 00 00 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
TBoYienC - T36a0V-NC AVASOCT Yana- &l - ASNASYal 4,0000| _ 4,000.0 4,000.0 00 0.0 0.0 0.0 0.0 0.0
OV 3YoRC - 63N TanalUT-AC AYASGCT Yana- &l 42184 472184 4,018.4 00 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 12,596.6( 12,596.6 12,596.6 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AZE»YIRT3(CY YiaiA»n " N=- 46 2,151.3 2,151.3 2,151.3 0.0 0.0 0.0 0.0 0.0 0.0
TTnSYeRan 13Ky Viabhon 92920 92920 9.292.0 00 0.0 0.0 0.0 0.0 0.0
TT»>V6=03ICY ~ NSYASICY 8YYAC Viahnn 11533 1,533 11533 00 00 0.0 0.0 0.0 0.0
5‘62~®2903690°6 3,965.5 3,965.5 3,965.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. I:~13~U3BYéﬁNY»ﬁ UCc3%-3(CY T3S T»AAaiAlasYY»icY 3,965.5 3,965.5 3,965.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
~AVASGCT 1A=USRY&RNY »h UGG >%- =Y 39655 3,9655 39655 0.0 00 00 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
éél(‘)fEZEZTZU Ua=2éTuos @i I°eUé2Aab21U°s 392,272.1 0.0 0.0| 377,272.1 377,272.1 0.0 0.0 0.0 0.0
31 Afadu
83602127 0-VAARY 10> 12 =1 =R=in aA=Up 392,072.1 00 00| 377,272.1 377,072.1 00 0.0 00 0.0
Ya3&wY»f (lase»Co)
31 Afadu
- 2 YAZ&TY»A pidic»Co 392,272.1 0.0 0.0| 377,272.1 377,272.1 0.0 0.0 0.0 0.0
20E 12E6°8 2325 2325 2325 0.0 00[ 00 0.0 0.0 0.0
31 Afadu
P3AlI»A, é?ﬁf|'31(;ﬁ I'X?ﬁY»ﬁ ” 'I'éﬁﬂ,&))ﬁ, éf]{?lYU ) 2325 2325 2325 0.0 0.0 0.0 0.0 0.0 0.0
I36373UY W3 UST3R13TY»AC Ta0UC6 TCA=¢ T4l
»Y UCUBY6 YI=3T1U3Up
aa LJ/EUZUéZTZU 2TTEIUCBLE T1ai 12Eé°8 1,860.0 0.0 0.0 0.0 0.0| 1,860.0 1,860.0 0.0 0.0
31 Afadu
D/E@EIJZT?U oFzaoUed 1,860.0 0.0 0.0 0.0 0.0| 1,860.0 1,860.0 0.0 0.0
31 Afadu
@?Z?U?Uoé o1 é28g21a0a00U°s 1,860.0 0.0 0.0 0.0 0.0| 1,860.0 1,860.0 0.0 0.0
31 Afadu
- I3 T3Y é3fu=Tanaly»a 1,860.0 0.0 0.0 0.0 0.0| 1,860.0 1,860.0 0.0 0.0




6971

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaicr T 3CY TSEe»AC -4f1=26Y=T3Y 136313/ U=Y 03 p=AYC 03
EUUC 02 126G Th=-fixAC - Tal N2 =1 =1 K= T=6a00Y»7C T»il=YaUY A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

Pa1T=0¢ =Yi=VaslA

S ATa0U ASH 175 fofiG

2y [ x3fay=Tah=Y
-ART»AAT T26= T2RACAY»ACY
Cii»Y6 U=Ta6=1
136=3[40AlasYY»AC 1C0=6
+AEN=T 466400

\m

31 ATa0U Aer
T=T=2Ra07»AC

=1 Afadu

\©
<
>
. >3
= 28
> o0
0 > ac
d n
=z 2
80
10 11
AU _2@°UA 12Eé&°d 15,000.0 15,000.0
=1 ATasU
A‘L"JAZ(‘)/ET 12Eé°d 15,000.0 15,000.0
31 Afadu
2pE2T2Ugk 12802Tda0AUa0U 0.0 0.0
=1 ATaiU
. ﬁ3~Uél' >=h 140 SREZT3 T30~ NS T»E2 Tx3AY»f 0.0 0.0
31 Afadu
- 2RE3TA0Y»AC SRESTST3A0»A " NS T»E3 Tx3AY»fi 0.0 0.0
- 3030360C313Y, 13733V 7 T 3I3Y 3k 0.0 0.0
13¢30a0Y»Ac &=h-"3hal
jZéZUéﬁAUéf)UUOé/E °i 25620gU°sE 0.0 0.0
0°eg” ©daid
SR YEL
D?ﬁf’lﬁY'?_l-3_I_3Y 13Eé»i 0.0 0.0
31 Afadu
- %Y»fi-»WCT I3¢3aiAiasYY»i 0.0 0.0
- TaU&IY3E 136=3{a0Ala0Y Yo i 0.0 0.0
- T3AC 13é63(a0Ala0Y Y»ii 0.0 0.0
- 283NaT3-[313Y ISEé»i 0.0 0.0
- Fa0l0C T eSA0B TanaiUY»AC T30 13Ea0Ala0Y 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
a3U3Y3-a3ICY 3k 13é63lA0AIA0YY»AC O»éup»iaiu 0.0 0.0

20la6e=T 03-03-02



0L¥T

10 11
- T3S T3Y 13¢3a0AaYY»i 0.0 0.0
- DBUST30-43CY 1=363a0Al0YY»h 0.0 0.0
- DO ISTT3TI3Y 1363(aAladYY»fhi 0.0 0.0
- T3EST3AST3Y 1363aAlasYY»h 0.0 0.0
- U»Al13[20640653T3Y 13Eé»i 0.0 0.0
- AYIN3YAiA pYadlAC 3k 13é3la0AladYY»i 0.0 0.0
AYAS6CT Yana-ail ~ a3Na3Vaol (13¢3la0AlasYY»h 0.0 0.0
YlaoA»fi)
31 Afadu
- b»YO»AC " T3¢€al0Y»AC AYA=6CT Yana-ail ~~ A3Na3Yail 0.0 0.0
- D»U»Y3Y»AC " 63AUSB TaNasUY»AC AYAS6CT Yana-aiu = 0.0 0.0
a=Na=vai
LA (Z&A=YUY»1) 0.0 0.0
31 Afadu
RSB T3CY Viaoh»n ~ N=-a0e T 00 0.0
- TASYEAAA T 3ICY YiaiA»h 0.0 0.0
- T»Y6=203(CY " NBYASICY 8YYLC YiaiAni 0.0 0.0
5‘62~®2903690°6 0.0 0.0
31 Afadu
_REUSRYAINT»h UCa%- ST 1= ToaaoNaa -Gy 00 0.0
31 Afadu
~AVASOCT ASUSTVARNT - UGe%- ST 00 00
I3%W=T»A&40AIAGY Y »ACY
éél(‘)fEZEZTZU Ua=2éTuos @i I°eUé2Aab21U°s 15,000.0 15,000.0
31 Afadu
83602127 0-VAARY 10> 12 =1 =R=in aA=Up 15,000.0 15,0000
Ya3&wY»f (lase»Co)
31 Afadu
T2EVASE 1 Vo0 HabenCo 15,000.0 15,000.0
(¢ 12E6°5 00 00
31 Afadu
D3>, é?ﬁ"l'31(lﬁ I'X?ﬁY»ﬁ o 'I'éEﬁUA>>ﬁ, éﬁ?’lYU ‘ 0.0 0.0
I36373UY W3 UST3R13TY»AC Ta0UC6 TCA=¢ T4l
»Y UCUBY6 YI=3T1U3Up
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0
31 Afadu
DEGU=120 keadUod 0.0 0.0
31 Afadu
Q?Z?Uéuoé °i é28g2i1a6a0guU°s 0.0 0.0
31 Afadu
- T3S T3Y é3Au31anaiUY»h 0.0 0.0
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TLV1

8022 W=VC D2V A» WAAIBY 2017 AT2T3VC &» W =T3Y plase»C USeCYi BD D3T»ET2I N 5 23/456=T 03-04-01
Of»YOC 7-A1 NATT3TAT paicr» 1 3iCY T2Ee»AC - aRT=6Y=T3Y 1363137 - U3Y 03 p=AYC 04 s
EUuC 01 136C TA3-f»AC - Tai (3631 131 K3 TT30a00Y»AC T»il3Yaily Asw 20laéé=1 N 03-04-01
TSE6»AC WY1 »83-CT3T3Y 1363137 - U3Y (a1 T2 TY»AC

31 ATa00 Ae W 173 -fi»fic
porsvoEsaiey | pprewsgmmiey | PITETESIEE
asSNa3Yaiu a=Naier3CY yaYy 3R - 36450
AVI3(»YA 3 AT4d0 Aer 3 AU Aer 3 ATaiU Aer
o 13¢ = 13713/a0Y»AC = I137130a0Y»NAC = 13713/a0Y»AC
PALT=IG =Y T=YaiUA - &0U3A e > = > c ~
=i g 2 ! !
ASUY»AaT) *><—E %\2 *><—E %\2 *><—E %\3
S kil S kil S il
g L g L g .
< j < j < j
8 8 8
1 2 3 4 5 6 7
AU b~2®chA 12Eé°s 3,728,920.0( 3,611,982.1 3,611,982.1( 79,437.9 79,437.9| 37,500.0 37,500.0
31 Atadu
AUAZSET 12E8°90 3,691,420.0| 36119821  3,611,982.1| 79,437.9 79,437.9 0.0 0.0
31 Atadu
ZPEZ'I‘%UZE 12802T18a0Al0asU 3,159,866.5| 3,159,866.5 3,159,866.5 0.0 0.0 0.0 0.0
31 Atadu
. ﬁ3~Uél' ‘I'><3ﬁ 140 3REZT3T3A0»A " NST»E2 Tx3AY»A 3,159,866.5| 3,159,866.5 3,159,866.5 0.0 0.0 0.0 0.0
31 Atadu
- 2RE3TA0Y»AC SRESTST3A0»A ~ NS T»ES Tx3AY»f 3,116,237.6| 3,116,237.6 3,116,237.6 0.0 0.0 0.0 0.0
1530?’9?’6Q3-I-3Y, 13YTII3Y T BT 3I3Y 3k 43,628.9 43,628.9 43,628.9 0.0 0.0 0.0 0.0
1=263(40Y»AC A=A - =1A&U
!ZéZUéﬁAUéﬁuuoé/E °1 2462UgU°dE 450,164.3 450,164.3 450,164.3 0.0 0.0 0.0 0.0
0°eg” ©3200
31 Atadu
P3Rav= 13137 ISEé»n 158,001.8] 158,001.8 158,001.8 0.0 0.0 0.0 0.0
31 Atadu
“UY»ii-> 0 CT 12631A0AE0Y Y»h 83501.4] 83,5014 83,501.4 0.0 0.0 0.0 0.0
- TaU&IY3t 1=3é63acAlasyYr»h 5,344.1 5,344.1 5,344.1 0.0 0.0 0.0 0.0
“ T340 12621a0Aa0Y Yoh 65,4263|  65,426.3 65,426.3 0.0 0.0 0.0 0.0
- 243Nai=3-A3T3Y I3Eé»i 3,640.0 3,640.0 3,640.0 0.0 0.0 0.0 0.0
ManT1a60a00V»NC ~ RAG= - SIABAIABYY»AC TS Eexh 8,328.6 8,328.6 8,328.6 0.0 0.0 0.0 0.0
é?’ULJE‘Y?j -A3CY 3k 13é3adAladYY»ic O»éuu»nadu 60,098.6 60,098.6 60,098.6 0.0 0.0 0.0 0.0
31 Atadu
- PSS T3Y 1363(a0AlaiYY»h 3,000.0 3,000.0 3,000.0 0.0 0.0 0.0 0.0
“D3UST3A-42Y 1263a0AR0Y V»h 39,800.0]  39,800.0 39,800.0 0.0 0.0 0.0 0.0
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1 2 3 4 5 6 7
- DO IBTT3T3Y [3¢3a0AlaYY»h 7,098.6 7,098.6 7,098.6 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 8,000.0 8,000.0 8,000.0 0.0 0.0 0.0 0.0
- AYAIN3YaA pYAdlAC 3k 1363a0AlasY Y»h 2,200.0 2,200.0 2,200.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 42,359.0 42,359.0 42,359.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 10,000.0 10,000.0 10,000.0 0.0 0.0 0.0 0.0
- P»U»Y3Y»C ~ 63AUS TanasUY»ic AYAS6CT Yana-aiu = 32,359.0 32,359.0 32,359.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 181,376.3 181,376.3 181,376.3 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIasA»h ™ N3 - 46w 74,090.1 74,090.1 74,090.1 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 106,177.7 106,177.7 106,177.7 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YiaiA»h 1,108.5 1,108.5 1,108.5 0.0 0.0 0.0 0.0
2UE ~‘| ZEéOB 81,389.2 1,951.3 1,951.3| 79,437.9 79,437.9 0.0 0.0
31 Afadu
93ﬁ-|-»ﬁ, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ . 'IjéﬁUA»ﬁ_,_éf]{?lYU" ‘ 1,951.3 1,951.3 1,951.3 0.0 0.0 0.0 0.0
1=e=T30U3Y 1 =hp»fi UST=3A1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 79,437.9 0.0 0.0| 79,437.9 79,437.9 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 37,500.0 0.0 0.0 0.0 0.0| 37,500.0 37,500.0
31 Afadu
D{EQL"JZTéU PExAOUCS 37,500.0 0.0 0.0 0.0 0.0| 37,500.0 37,500.0
31 Afadu
@?Z?U?UOB °i é28g2i1a6a0gu°s 37,500.0 0.0 0.0 0.0 0.0| 37,500.0 37,500.0
31 Afadu
- T3NEST3Y 6303 TanaUY»n 37,500.0 0.0 0.0 0.0 0.0 37,500.0 37,500.0




ELVT

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr 20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 05

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

S ATa00 AST T7=-fofiG

pi»3T3T31a03T3Y
N=U=T=0-¢ &a={a=vaiU

=1 ATl Asr

AVIZU»YA - TS 3A40V»AC
o =66 =
PALT=1C 3Vi3YasUA -&0USA 0 T
1~g?fé?j? ~ < 2;6 =
ASUY»AaT) :;;_ m_ E
o e 0
Z T
=2
0
1 2 3
AU 2g°UA 12E€°3 8,527,835.6] 8,527,835.6 8,527,835.6
31 ATasl
AUA20AT 12E€°3 8,527,835.6| 8,527,835.6 8,527,835.6
31 Afasl
2pE2T200k 12802T820A0a00 6,028,772.9| 6,028,772.9 6,028,772.9
31 Afasl
. A=0aT 13140 SREZ =130 N2 162 1x3AV»f 6,028,772.9| 6,028,772.9 6,028,772.9
31 Afasl
- 2RE3TA0V»AC SRES TS T30~ NS 163 1x3AY»A 5,991,254.7| 5,991,254.7 5,991,254.7
- 63020260312, BT =137 & w2137 3F 37,518.2 37,518.2 37,518.2
1=63{a0Y»fiC &=A- =14l
1262020A02000°8& ©1 2a5620gU0°3K 2,442,535.3| 2,442,5353 2,442,535.3
0°ep” °5a00
31 Afasl
P3A&Y=T=1=Y 1=Eé»f 731,798.3| 731,798.3 731,798.3
31 ATasl
“IN»A-»>HCT 1363apAla0YY»h 655,256.1| 655,256.1 655,256.1
- TaUasy3E 1363lachlany Vi 43,1695 43,169.5 43,169.5
“ 1340 1263aAa0Y Yoh 23,648.7 23,648.7 23,648.7
-2330ai=-A=13Y ISEé»h 3,520.0 3,520.0 3,520.0
“qTaBIoC  6=R0= 1 anacUY»hc 1=n0= 1 StaoAlany 6,204.0 6,204.0 6,204.0
Tan1a0asUY»nC -~ RAC= - SIAbAIRIYY»NC 1S Eé»h 17,8480 17,848.0 17,848.0
a=l0=3v=-A=cY 3E 1=6=a0AlA6YV»C 0»6up»iadl 13,7184 13,718.4 13,718.4
31 Afasl
S Smas13Y 12631a0Na0y Y»h 1,044.0 1,044.0 1,044.0
BN ENTE A PN 12,6744 12,674.4 12,674.4
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1 2 3
2EUS6Y= -G =T 156=0Ra0T V-G OveU»iaiy 1,004.1 1,2041 1,204.1
31 Atadu
- @3EY3S-CU313Y I363aAlabYY»ii 1,204.1 1,204.1 1,204.1
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 149,927.9| 149,927.9 149,927.9
YlaoA»fi)
31 Atadu
- b»YU»AC " T3¢adloY»AC AYASOCT Yana-ail =~ A3Na3Yail 141,000.0 141,000.0 141,000.0
DUV 3YoRG  63AUS 1 aRa0UY»AC AYASOCT Yana-ail 8,927.9 8,927.9 8,927.9
asNa=vail
UlaAon (FRR=V0Y»1) 1528,038.6| 1528,0386] 1,528,386
31 Atadu
“NASEVIBT3Y VidoAnn N2 -&06 1 275.186.4| 275186.4 275,186 .4
TARSYERAN T 3CY VIAA N 97,3010 97,3010 97,301.0
TT-763031CY ~ NSYASICY 8YYAC Yiaohnh 1,134,356.7| 1,134,356.7 1,134,356.7
TPITAT YASTII3CY 3L Viaohon 21,1945| 21,1945 21,1945
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 51,1000]  51,100.0 51,100.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y S n=R=ln aA=Up 51,1000|  51,100.0 51,100.0
Ya3ewY»i (uléoc»Co)
31 Atadu
“2EVA3ETYon HaienCo 51,1000|  51,100.0 51,100.0
2UE ~‘| ZEéoé 5,427.4 5,427.4 5,427.4
31 Atadu
D3RIon, AR S1CR Tx2RT>n T alkoR, AHaT0 ‘ 39274] 39274 3,927.4
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ USI13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 1,500.0 1,500.0 1,500.0

20la6e=T 03-05-01
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr 20y T2ES»AC -aRT=26Y2T3Y 1263T24-U3Y 03 p=AYC 07

EUKGC 01 226G 1A= -AnfiC - Tal N2e =0 121 (3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

D‘? iI»T3INS5
20i466=3T N 03-07-01
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SH AT AST 17= - fofiC

BB UVVE=T2Y TAUCT»C
asNasvaiu

bb UY~Y53-|-3Y. Tf’iUQ'I"»Q
a3Naer3gY yave

PO R

AT aYYEST3Y

I=é3laiA=Y a=Na=vail

Pb =&l avyasT13y
F262a0A=Y
&=fasswr=icy yays

=1 ATl Asr

= ATaU Aer

=1 ATa0U Aer

=1 ATV Asr

AV1SU»VA : U : U : U : U
) ’ - 1:j;ég ‘ - 13713/a0Y»AC - I137130a0Y»NAC - 1371 3na0Y»NC - 13713Ra0Y»NC
PALT=IG =Y T=YaiUA -430=iA R R R R
(=33 o o n 0
LASUY»RAT) E 7 E 7 E = E =>F
s | 3| Bs | 3| % | 3| rid
; 52| @ 5z 7| zE% | T | zEb
X 3 Z 3 Z 850 Z 830
1 2 3 4 5 6 7 8 9
AU b~2®chA 12Eé°s 6,599,434.6| 5,806,484.4 5,806,484.4| 94,066.3 94,066.3| 625,376.4 625,376.4( 12,507.5 12,507.5
3r ATédU
A‘L"JAZ(‘)ET 12Eé°8 6,538,434.6| 5,806,484.4 5,806,484.4| 94,066.3 94,066.3| 625,376.4 625,376.4( 12,507.5 12,507.5
3r ATédU
ZPEZ'I‘%UEE 12802T18a0Al0asU 5,463,634.2| 4,911,471.5 4,911,471.5 0.0 0.0 552,162.7 552,162.7 0.0 0.0
3r ATédU
. ﬁ3~Uél' ‘I'><3ﬁ 140 3REZT3T3A0»A " NST»E2 Tx3AY»A 5,463,634.2| 4,911,471.5 4,911,471.5 0.0 0.0 552,162.7 552,162.7 0.0 0.0
3r ATédU
- 2RE3TA0Y»AC SRES TS T30~ NS T»E3 Tx3AY»f 5,372,378.2| 4,868,204.1 4,868,204.1 0.0 0.0 504,174.1 504,174.1 0.0 0.0
-'Z3(~)j3’L:J’3(')Q3-I-3Y, 13YTII3Y T BT 3I3Y 3k 91,256.0 43,267.4 43,267.4 0.0 0.0 47,988.6 47,988.6 0.0 0.0
1=263(40Y»AC A=A - =1A&U
!ZéZUéﬁAUéﬁuuoaﬁE °1 2462UgU°dE 807,630.0 741,577.1 741,577.1 0.0 0.0 66,052.9 66,052.9 0.0 0.0
0°es” ©5a00
3r ATédU
D?ﬁf’lﬁY'?_l-3_|_3Y 13Eé»i 208,447.5 188,560.4 188,560.4 0.0 0.0( 19,887.1 19,887.1 0.0 0.0
3r ATédU
- YY»f-» W CT 13é3(a0AlasYY»hi 102,017.9 91,112.3 91,112.3 0.0 0.0 10,905.6 10,905.6 0.0 0.0
- TaU&IY3t 1=3é63acAlasyYr»h 2,980.3 2,551.9 2,551.9 0.0 0.0 428.4 428.4 0.0 0.0
- T=2AC 1363(a0AlaiYY»hi 100,134.3 91,736.2 91,736.2 0.0 0.0 8,398.1 8,398.1 0.0 0.0
- 243Nai=3-A3T3Y I3Eé»i 3,315.0 3,160.0 3,160.0 0.0 0.0 155.0 155.0 0.0 0.0
ManT1a60a00V»NC ~ RAG= - SIABAIABYY»AC TS Eexh 38,651.8]  36,131.8 36,131.8 0.0 00| 25200 2,520.0 0.0 0.0
é?’UL!e‘Y?f -A3CY 3k 13é3adAladYY»ic O»éuu»nadu 77,098.1 68,213.1 68,213.1 0.0 0.0 8,885.0 8,885.0 0.0 0.0
3r ATédU
- PSS T3Y 1363(a0AlaiYY»h 34,500.0 30,500.0 30,500.0 0.0 0.0 4,000.0 4,000.0 0.0 0.0
“D3UST3A-42Y 1263a0AR0Y V»h 8,235.0 7,635.0 7,635.0 0.0 0.0 600.0 600.0 0.0 0.0
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1 2 3 4 5 6 7 8 9
- DO ISTT3T3Y 136340Ala5YY»A 16,263.1 15,078.1 15,078.1 0.0 0.0 1,185.0 1,185.0 0.0 0.0
- T3E63 T3 13Y 136340AlasYY»i 3,800.0 3,500.0 3,500.0 0.0 0.0 300.0 300.0 0.0 0.0
- U»AI32064068313Y 12Eé»i 10,500.0 8,000.0 8,000.0 0.0 0.0 2,500.0 2,500.0 0.0 0.0
T AVINSYaAdN pYAIAC SE 1363 R0N&DY YR 3,800.0 3,500.0 3,500.0 0.0 0.0 300.0 300.0 0.0 0.0
2EUSEY= -0 =Ty 1363 1R0AA0VI»TC O»6Upmiiall 2,0802|  2,000.0 2,000.0 0.0 0.0 89.2 89.2 0.0 0.0
31 Atadu
TP -G 3137 126310 Voh 2,089.2 2,000.0 2,000.0 0.0 0.0 89.2 89.2 0.0 0.0
AVAS6CT Vara- a0~ &=N&=Yai0 (126> A0Ra Vo 152,356.0|  150,600.0 150,600.0 0.0 00| 1,756.0 1,756.0 0.0 0.0
YiaoA»h)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASGCT Yana-ail ~ a3Na3Yail 120,600.0|  120,600.0 120,600.0 0.0 0.0 0.0 0.0 0.0 0.0
DIV 3YoRC - 63003 1ARAUY»AC AYASGOCT Yana-ail 31,756.0|  30,000.0 30,000.0 0.0 00| 17560 1,756.0 0.0 0.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 328,987.4 296,071.8 296,071.8 0.0 0.0] 32,915.6 32,915.6 0.0 0.0
31 Atadu
- AZE»YIRT3(CY YiaiA»n ~ N=- 46 180,672.4 167,941.8 167,941.8 0.0 0.0 12,730.6 12,730.6 0.0 0.0
- TH3YEAARW3ICY YlaiA»h 138,931.0 120,631.0 120,631.0 0.0 0.0 18,300.0 18,300.0 0.0 0.0
TA>63031CY ~ NSYRSICY 8YVAC VIAtA 4,549.0 3,049.0 3,049.0 0.0 00| 15000 1,500.0 0.0 0.0
TP &T YAS T ST3CY SE VoA h 4.835.0 4,450.0 4,450.0 0.0 0.0 385.0 385.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 12U Uaz2étuesd ©i I°eué=2Aap21U°s 156,610.3 149,770.3 149,770.3 0.0 0.0 6,840.0 6,840.0 0.0 0.0
31 Atadu
BA6CESTY 0-VAARY 1i=U=TY 3w =N=Tr A= 00 156,610.3| 149,770.3 149,770.3 0.0 00| 68400 6,840.0 0.0 0.0
Ya3&uY»f (lase»Co)
31 Atadu
- 2 YAZ&TY»A pidic»Co 156,610.3 149,770.3 149,770.3 0.0 0.0 6,840.0 6,840.0 0.0 0.0
2UE ~‘| ZEéoé 110,560.1 3,665.5 3,665.5( 94,066.3 94,066.3 320.8 320.8( 12,507.5 12,507.5
31 Atadu
P3AT»A, é?ﬁj|'3lgﬁ fX?ﬁY>>ﬁ ” 'I'éﬁUA))ﬁ, af]aYu ) 3,986.3 3,665.5 3,665.5 0.0 0.0 320.8 320.8 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67 400
»Y UCUBY6 YI=3T1U3Up
2 I3Eé»i 106,573.8 0.0 0.0 94,066.3 94,066.3 0.0 0.0 12,507.5 12,507.5
élé lilﬁEUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 61,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 61,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Q?Z?U?UOB o1 é28g21a0a000°d 61,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 1383 13Y 63A0=14Ra0UY»A 61,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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1 2 3 4 5 6 7 8 9
AU b~2®?UA 12Eé°s 3,667,763.1( 312,512.7 312,512.7 771,402.5 771,402.5( 14,1234 14,123.4 156,616.5 156,616.5
31 Atadu
A‘L"JA:Z(‘)A:ZI 12E&°0 3,667,763.1( 312,512.7 312,512.7 771,402.5 771,402.5( 14,1234 14,123.4 156,616.5 156,616.5
31 Atadu
ZPEZT?UﬂE 12802T18a0Al0asU 1,169,756.2| 282,440.3 282,440.3 727,784.7 727,784.7 0.0 0.0 0.0 0.0
31 Atadu
. ﬁ3~Ué|' ‘|'><3ﬁ 140 3REZT313A0»A " NST»E2 Tx3AY»A 1,169,756.2| 282,440.3 282,440.3 727,784.7 727,784.7 0.0 0.0 0.0 0.0
31 Atadu
- 2RE3TA0Y»AC SRESTST3A0»A ~ NS T»E3 Tx3AY»f 1,083,918.6| 267,645.0 267,645.0 665,175.2 665,175.2 0.0 0.0 0.0 0.0
-'12130?9?6(23'I'3Y, 1333V AT 3I3Y 3k 85,837.6 14,795.3 14,795.3 62,609.5 62,609.5 0.0 0.0 0.0 0.0
36300Y»iC &3 3l
?ZéZUéﬁAUéﬁUUoéﬁE °1 2a62UgU°sE 101,096.9 29,898.0 29,898.0 43,027.7 43,027.7 0.0 0.0 0.0 0.0
0™ 5200
31 Atadu
b?ﬁf’tﬁ\'{?{l'glg\'( 13Eé»h 46,250.9 8,943.9 8,943.9 30,398.9 30,398.9 0.0 0.0 0.0 0.0
31 Atadu
- YY»fi-» W CT 13é3(a0AlasYY»hi 32,128.1 3,766.4 3,766.4 23,685.6 23,685.6 0.0 0.0 0.0 0.0
- TaU&Y3t 1=3é63acAlasy Yo 556.4 130.5 130.5 358.9 358.9 0.0 0.0 0.0 0.0
- T=2AC 1363(a0AlaiYY»hi 12,971.0 4,847.0 4,847.0 6,078.4 6,078.4 0.0 0.0 0.0 0.0
- 233Na13-A313Y IBEé»i 595.4 200.0 200.0 276.0 276.0 0.0 0.0 0.0 0.0
q1anT1as0as0Y»AC ~ B¢ - SlacAlaYY»AC SEex»h 14,5514 7,117.2 7,117.2 1,934.2 1,934.2 0.0 0.0 0.0 0.0
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1 2 3 4 6 7 8 9
a3ULg3Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 17,640.5 3,309.8 3,309.8 1,830.7 1,830.7 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T130-43CY 13¢3a0AlasYY»h 760.7 200.0 200.0 560.7 560.7 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 677.8 577.8 577.8 100.0 100.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 500.0 500.0 500.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AladY Y»h 15,702.0 2,032.0 2,032.0 1,170.0 1,170.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 125.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aAla0YY»ii 125.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)CT Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 5,550.6 2,826.0 2,826.0 2,200.0 2,200.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MiC ~ 63A0S TanasUY»ic AYAS6CT Yana- ail 5,550.6 2,826.0 2,826.0 2,200.0 2,200.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 16,978.5 7,701.1 7,701.1 6,663.9 6,663.9 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YiaiA»h ™ N3 - 46w 2,927.9 804.1 804.1 1,661.7 1,661.7 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 10,610.7 4,745.0 4,745.0 3,894.0 3,894.0 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 89.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 1,350.5 152.0 152.0 1,108.2 1,108.2 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 2,000.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E?/EZL"Joé 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lgl”Y»ﬁ A>T 3T13Y 133 T»AAEAEIYY»ACY 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
:_éé\@pé_QlQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%=T»A&40AIATY Y »ACY
. 6%@290369006 1,076,559.5 0.0 0.0 0.0 0.0| 14,1234 14,1234 0.0 0.0
31 Afadu
AY_A_36Q-I. 3_'-_r~‘,I3U:3jBYéﬁNY>>ﬁ A U3I3YNSTI=3I¢ 3f 1,076,559.5 0.0 0.0 0.0 0.0| 14,1234 14,123.4 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 14,1234 0.0 0.0 0.0 0.0| 14,1234 14,123.4 0.0 0.0
3¢ WA3CY 13X T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 1,062,436.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I ZEéOB 159,098.2 174.4 174.4 590.1 590.1 0.0 0.0/ 156,616.5 156,616.5
31 Afadu
93ﬁ-l-»ﬁ, é’l?ﬁ"l'31(lﬁ l'x?ﬁ_Y'_»ﬁ . 'Ijéﬁﬂk)ﬁ_,_éﬁéYU__ ‘ 817.7 174.4 174.4 590.1 590.1 0.0 0.0 0.0 0.0
1=e=T30U3Y 1 =hp»fi UST=3A1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 158,280.5 0.0 0.0 0.0 0.0 0.0 0.0 156,616.5 156,616.5
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CAZT3Y=26U3VA »i=3e Ta0atA=Y T3=0400! TA=-ACY
A T3T3Y [7i=-CA
PALTZIC 3YT3Y45UA 3 ATaoU Aew 3 ATaoU Aew 3 Ataol Aer 3 ATaoU Aer
\— T3 3na0Y»icC \— T30 3ha0Y»AiC \— T3 3na0Y»Aic \— T3 7 3na0Y»iiC
28 28 28 28
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\- lm >/: 1% :: 'm- 6— A 1% :: 'm- 6— A 1% :: 'm- 6— A 1%
= R = B> 8 = B> 8 = HD> 8
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U] c O U] Yo U] =Yoo e ] = Voac
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=z R < a L2 < o L2 < o L%
sl a8 2 a="2 a8 2
10 11 12 13 14 15 16 17
AU _2@°UA 12Eé&°3s 1,161,252.3 1,161,252.3| 152,600.0 152,600.0| 15,000.0 15,000.0| 13,900.0 13,900.0
31 AT48U
AUAZ20LT 12Eé°5 1,161,252.3 1,161,252.3| 152,600.0 152,600.0| 15,000.0 15,000.0| 13,900.0 13,900.0
31 AT45U
2pE21200k 12802T0a0A0a0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AT45U
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AT48U
T2RESTA0Y»AC SRES T ST2A00A N2 T2 1x3Ton 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 030300013, ST By S13Y SF 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[363080Y»AC A3h- 3 Tfi&U
12&20a0AUasuUCBE ©1 24a62UgU°dA 0.0 0.0 0.0 0.0] 13,304.8 13,304.8 0.0 0.0
0cép” °daid
31 AT48U
P3AaYST313Y I1SEé»h 0.0 0.0 0.0 0.0 35.4 35.4 0.0 0.0
31 AT45U
I -1 CT 1363 A0NE0Y Y1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“T=AC 1363la0Aa0Y Yo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T2a3Na1=-A2T3Y 1SE6HR 0.0 0.0 0.0 0.0 354 354 0.0 0.0
TANT&00a0UY»AC B = - STAOARBYY»AC 1= Eérn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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10 11 12 13 14 15 16 17
a3ULg3Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 0.0 0.0 0.0 0.0] 12,500.0 12,500.0 0.0 0.0
31 Afadu
- D3U=T130-43CY 13¢3a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AladY Y»h 0.0 0.0 0.0 0.0] 12,500.0 12,500.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 125.0 125.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aAla0YY»ii 0.0 0.0 0.0 0.0 125.0 125.0 0.0 0.0
AYA?(’)CT Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MiC ~ 63A0S TanasUY»ic AYAS6CT Yana- ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 644.4 644.4 0.0 0.0
31 Afadu
- TASE»YISTIICY YiaiA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 555.0 555.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0 0.0 0.0 89.4 894 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E?/EZL"Joé 1,161,252.3 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lgl”Y»ﬁ A>T 3T13Y 133 T»AAEAEIYY»ACY 1,161,252.3 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
:_éé\@pé_QlQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 1,161,252.3 1,161,252.3 0.0 0.0 0.0 0.0 0.0 0.0
I3%=T»A&40AIATY Y »ACY
. 6%@290369006 0.0 0.0 152,600.0 152,600.0 0.0 0.0 13,900.0 13,900.0
31 Afadu
AY_A_36Q-I. 3_'-_r~‘,I3U:3jBYéﬁNY>>ﬁ A U3I3YNSTI=3I¢ 3f 0.0 0.0| 152,600.0 152,600.0 0.0 0.0 13,900.0 13,900.0
USTSR1=TY»ACY
31 Afadu
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WA3CY 13X T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 0.0 0.0| 152,600.0 152,600.0 0.0 0.0 13,900.0 13,900.0
ZQE ~‘I ZEéOB 0.0 0.0 0.0 0.0 1,695.2 1,695.2 0.0 0.0
31 Afadu
93ﬁ-l-»ﬁ, é’l?ﬁ"l'31(lﬁ l'x?ﬁ_Y'_»ﬁ . 'Ijéﬁﬂk)ﬁ_,_éﬁéYU__ ‘ 0.0 0.0 0.0 0.0 31.2 312 0.0 0.0
1=e=T30U3Y 1 =hp»fi UST=3A1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 0.0 0.0 0.0 0.0/ 1,664.0 1,664.0 0.0 0.0
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< cLFu < il < G < SO Fu
8-> 2 U 8=>0 8->
18 19 20 21 22 23 24 25
AU >~2®?UA 12E68°56 475,000.0 475,000.0 15,000.0 15,000.0| 21,032.4 21,032.4| 27,360.0 27,360.0
31 ATa4dU
A‘L"JA:Z(‘)/E 1 12Eé°0 475,000.0 475,000.0 15,000.0 15,000.0| 21,032.4 21,032.4| 27,360.0 27,360.0
31 ATa4dU
ZPEZ'I‘?UZE 12802T6a0AUacU 0.0 0.0 15,000.0 15,000.0 0.0 0.0( 27,360.0 27,360.0
31 ATa4dU
. ﬁ3~Uél' ‘I'><3ﬁ 140 SREST3T3A0»A ~ NBT»E3 Tx3AY»i 0.0 0.0 15,000.0 15,000.0 0.0 0.0( 27,360.0 27,360.0
31 ATa4dU
- ZBE3'I'éOY»ﬁC SREST3T3A0»A ~ NBT»E3 Tx3AY»f 0.0 0.0 15,000.0 15,000.0 0.0 0.0( 27,360.0 27,360.0
- 030300013, ST By S13Y SF 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[363080Y»AC A3h- 3 Tfi&U
?ZéZUéﬁAUéﬁ)UUc’aﬁE o7 2582UgU°dkE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°ep” 93200
=1 AT4dU
D?‘ﬁ:’:’lﬁY’?_l-e’_I_?’Y I13Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 ATa4dU
I -1 CT 1363 A0NE0Y Y1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TAU&Y3E 13é63(a0AIaY Y»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT3AC 1563 ANa0TYoh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 283Nai3-A=13Y ISEé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
NanTa0a0Y»NC ~ RACS - SROAGIYY»NC TSEenh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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18 19 20 21 22 23 24 25
a3ULg3Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T130-43CY 13¢3a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3k 1363a0AladY Y»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aAla0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)CT Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MiC ~ 63A0S TanasUY»ic AYAS6CT Yana- ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YiaiA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E?/EZL"Joé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lgl”Y»ﬁ A>T 3T13Y 133 T»AAEAEIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
:_éé\@pé_QlQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%=T»A&40AIATY Y »ACY
362~®2P0369006 475,000.0 475,000.0 0.0 0.0| 21,0324 21,0324 0.0 0.0
31 Afadu
AY_A_3C')Q-I. 3_'-_r~]3U3jBYéﬁNY»ﬁ A U3I3YNSTI=3I¢ 3f 475,000.0 475,000.0 0.0 0.0| 21,0324 21,032.4 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WA3CY 13X T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 475,000.0 475,000.0 0.0 0.0| 21,0324 21,032.4 0.0 0.0
ZQE ~‘I ZEéOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
93ﬁ-l-»ﬁ, é’l?ﬁ"l'f‘lgﬁ fx?ﬁ_Y:»ﬁ . 'Ijéﬁﬂk)ﬁ_,_éﬁéYU__ ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=e=T30U3Y 1 =hp»fi UST=3A1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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3 AT 8N 3 AN 8N
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ge2 Y 8t
26 27 28 29
AU b~2®?UA 12Eé°5 399,903.7 399,903.7| 132,059.6 132,059.6
31 Atadu
A‘L"JA:Z(‘)/EI 1Z2Eé°0o 399,903.7 399,903.7| 132,059.6 132,059.6
31 Atadu
ZPEZ'I‘?UZE 12802T8a0A0a0U 0.0 0.0 117,171.2 117,171.2
31 Atadu
. ﬁ3~Uél' ‘|'><3ﬁ 7140 BRE3T 313101~ NBT»EB 1x3fiY»f 0.0 0.0 117,171.2 117,171.2
31 Atadu
- ZBE3'I'éOY»ﬁC SREST3T3A0»A " NS T»E3 Tx3AY»f 0.0 0.0 108,738.4 108,738.4
- 83030360313, 1313137 - &> 1213y 3E 0.0 00| 84328 8,432.8
1262310V»AC A3/ 3T
jZéZUéﬁAUéf)UUOB/E o7 2a462UgU°sE 0.0 0.0 14,866.4 14,866.4
0°ep” ©5200
31 Atadu
D?ﬁf’lﬁY'?_l-Q’_I_?’Y 13Eé»f 0.0 0.0 6,872.7 6,872.7
31 Atadu
~I»A-»> T CT 1363asAIa0Y Y»n 0.0 0.0| 46761 4,676.1
- TAU&Y3t 1363a0Ala0Y Y» 1 0.0 0.0 67.0 67.0
“T3AC 1263R0AAY YA 0.0 0.0| 20456 2,045.6
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26 27 28 29
a3ULg3Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T130-43CY 13¢3a0AlasYY»h 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0
- U»iil3[=040043T3Y I3Eé»h 0.0 0.0 0.0 0.0
- AYIN3Y4H7 pYadlAC 3k 1=3¢3a0AlaiY Y»h 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aAla0YY»ii 0.0 0.0 0.0 0.0
AYA?(’)CT Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 524.6 524.6
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MiC ~ 63A0S TanasUY»ic AYAS6CT Yana- ail 0.0 0.0 524.6 524.6
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 1,969.1 1,969.1
31 Afadu
- TASE»YISTIICY YiaiA»h ™ N3 - 46w 0.0 0.0 462.1 462.1
- TASYEAANT3ICY YiasA»i 0.0 0.0 1,416.7 1,416.7
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YY1C YIaiA»h 0.0 0.0 90.3 90.3
- D3l YA3S W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0
eao” é/E?/EZL"Joé 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lgl”Y»ﬁ A>T 3T13Y 133 T»AAEAEIYY»ACY 0.0 0.0 0.0 0.0
31 Afadu
:_éé\@pé_QlQE‘Y»ﬁ 43 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0
I3%=T»A&40AIATY Y »ACY
. 6%@290369006 399,903.7 399,903.7 0.0 0.0
31 Afadu
AY_A_36Q-I. 3_'-_r~‘,I3U:3jBYéﬁNY>>ﬁ A U3I3YNSTI=3I¢ 3f 399,903.7 399,903.7 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 0.0 0.0 0.0 0.0
3¢ WA3CY 13X T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 399,903.7 399,903.7 0.0 0.0
ZQE ~‘I ZEéOB 0.0 0.0 22.0 22.0
31 Afadu
93ﬁ-l-»ﬁ, é’l?ﬁ"l'31(lﬁ l'x?ﬁ_Y'_»ﬁ . 'Ijéﬁﬂk)ﬁ_,_éﬁéYU__ ‘ 0.0 0.0 22.0 22.0
1=e=T30U3Y 1 =hp»fi UST=3A1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 0.0 0.0 0.0 0.0
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USAUCYY»AC &a3Na=Vail (Y3ESASAAIAIRTY»FC G o>
AVI3(»YA SRESTST3W»AC U38ar)
135¢
PALTZIC 3YT3Y45UA . &U=RA 3 ATaoU Aew 3 ATaoU Aew 3 ATaoU Aew 3 Ataol Aer
== - T=T3/40Y»AC - T=T=34a0Y»AC - T=T=3/40Y»AC w | T=r=Ra0Y»AC
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> > > > >
a <ol o a <3 a < 3 a <
= i< 2> g = B = i = B
< o gsen 3 < @ 3 < D I3 < @ 3
kN .2 i 1% o :m— ’:E RN .2 i R .2 i R .2 i
7 |BEivitg| 7 828 7 32% | 7| BLE
g ruscan| % 4 L 4 L i 4
< S ey = < oY < 2 < oY
g> 0 &> &> 8>
1 2 3 2 5 6 7 8 9
AU_2g°UA 12E6°5 12,180,470.9| 929,584.7 920584.7|  494,862.6 494.862.6| 47,076.7 47,076.7| 84,7475 84,747.5
3 A4l
AUAZ0ET 12E6°5 9,123,748.5| 929,584.7 920584.7|  494,862.6 494.862.6| 47,076.7 47,076.7| 84,7475 84,7475
3 A4l
2pE=71200k 1280210a0A0a00 1,329,803.3| 874,634.3 874,634.3|  455,169.0 455,169.0 0.0 0.0 0.0 0.0
3 A4l
_A=UaT 1x2n1a0 SRES TS 120000 N2 1562 [x31T»h 1,329,803.3| 874,634.3 874,634.3|  455,169.0 455,169.0 0.0 0.0 0.0 0.0
3 A4l
“2RESTA0V»AC SRES NS T2A00N -~ N2 T»E= IxSAY»h 1,216,214.8| 801,333.7 801,333.7|  414,881.1 414,881.1 0.0 0.0 0.0 0.0
- 630302003 T3Y, 131313 -~ & 1 S13Y SE 113,588.5| 73,300.6 73,300.6 40,287.9 40,287.9 0.0 0.0 0.0 0.0
1=6=2(40V»AC A=A =140
1262020A02000°8L ©1 2a520sU°8k 634,942.7| 54,1106 54,110.6 39,351.1 39,351.1 0.0 0.0| 84,7475 84,7475
0°es” ©5260
=1 Afas0
PSRAN = 1=13Y SEé»n 38,6612 22,527.1 22,5271 16,134.1 16,134.1 0.0 0.0 0.0 0.0
3 A4l
%>R > 1 CT 1=263a0Ka0Y Yo i 23,777.2| 12,879.0 12,879.0 10,898.2 10,898.2 0.0 0.0 0.0 0.0
- TaUa0Y =t 1=6=1a0AIa07 Voh 179.8 0.0 0.0 179.8 179.8 0.0 0.0 0.0 0.0
“T=3C 1=26=laAa0y Y»h 12,976.2| 8,328.1 8,328.1 24,6481 24,6481 0.0 0.0 0.0 0.0
e A ER S DA 840.0 600.0 600.0 240.0 240.0 0.0 0.0 0.0 0.0
- qA0INC ~ E3AUSTaNAUY>AC 13101 StaoAl&0Y 888.0 720.0 720.0 168.0 168.0 0.0 0.0 0.0 0.0
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1 2 3 4 6 7 8 9
an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 13,548.4 6,363.4 6,363.4 7,185.0 7,185.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 8,013.2 4,166.1 4,166.1 3,847.1 3,847.1 0.0 0.0 0.0 0.0
31 Afadu
- D3UST31-43(CY 13¢3(A0AIA6YY »1 2,610.0 470.0 470.0 2,140.0 2,140.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 4,508.1 3,301.0 3,301.0 1,207.1 1,207.1 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 300.0 300.0 300.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 595.1 95.1 95.1 500.0 500.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 57,033.0 0.0 0.0 220.0 220.0 0.0 0.0| 56,813.0 56,813.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aiAla0YY»ii 57,033.0 0.0 0.0 220.0 220.0 0.0 0.0| 56,813.0 56,813.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 6,215.5 5,036.9 5,036.9 1,178.6 1,178.6 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»ic AYAS6CT Yana- ail 6,215.5 5,036.9 5,036.9 1,178.6 1,178.6 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 511,471.4| 16,017.1 16,017.1 10,786.3 10,786.3 0.0 0.0| 27,934.5 27,934.5
31 Afadu
- TASE»YISTIICY YIaiA»h ™ N3 - 46w 3,886.2 2,156.0 2,156.0 1,730.2 1,730.2 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 19,989.5( 13,548.1 13,548.1 6,441.4 6,441.4 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 456,733.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 477.7 313.0 313.0 164.7 164.7 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 30,384.5 0.0 0.0 2,450.0 2,450.0 0.0 0.0| 27,934.5 27,934.5
eao” é/E‘b/EZUc’é 3,395,763.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ 44 &> 313Y I3W3T»AAaAlasYY»icY 3,395,763.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééfgué_(;]{l?’Y»ﬁ a4 & T3I3Y adyCY3Ye313Y 1,902,750.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
- éé\@péClQE‘Y»ﬁ 43 &»313Y yCY3Ve313yY 1,493,013.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3W=T»A&40AIAGY Y »ACY
5‘62~®2D‘Ué169006 1,703,918.1 0.0 0.0 0.0 0.0| 47,076.7 47,076.7 0.0 0.0
31 Afadu
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 1,703,918.1 0.0 0.0 0.0 0.0 47,076.7 47,076.7 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 44 1,136,306.6 0.0 0.0 0.0 0.0 47,076.7 47,076.7 0.0 0.0
3¢ WASICY 13X T»AA40AIAYY»ACY
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 360,361.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WA3CY T3S T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 207,250.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I ZEéOB 2,059,320.7 839.8 839.8 342.5 3425 0.0 0.0 0.0 0.0
31 Afadu
P3fil»hA, &3 W 31CA 1x3iAY»i ~ wWailA»i, afayu 1,182.3 839.8 839.8 342.5 3425 0.0 0.0 0.0 0.0

12631302 T3P USTSALSTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p
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20lase=T 04-02-01

1 7
2E1=Ee»h 2,058,138.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4a u£U=082T20 ZTTE1U°3E T1a1 126695 3,056,722.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Ai4o0
pEDUZT120 Pk2a0U°8 3,056,722.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
poUg°8 ©1 PEU&6AUaU0°5 2,728,121.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
- P>YUnAC  BCYAOAAIYY»1C BCYSn=nasA&0y 2,728,121.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 625021a0a0U°8 44,0505 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
- TA=VEAAN T =I0Y 6202 14na00Y»h 7,460.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2EU»>Y3Y»R - 63A0S1aRa00Y > 36,590.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pEQUZ120 0E=a00°5 284,550.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
- USES 131 =71 3137 [SEeh 284,550.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT piaicr T =3CY TSE»AC -4f1=26Y=T3Y 1363T37-U3Y 04 p=AYC 02
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

20la6e=T 04-02-01

Pa1T=1¢ =YT=VaslA

SH AT AGT 17 - fofiC

pad»fAcC 3 -AauCUC3T3Y
N» o 3%am Ay =
u»ARCasAIRBY
u3AoA=6U3Y
UCca6=36éaiUY»f

Mas03 1Y T »8313Y
T»Y12YCY»AC &30 712614

Tias0=T=3Y
Eailii=sT iST3Y
T363la0Ala0 YY1l

2y38Y=2paiA=e=3vYCw3iAc3(C -
_ HESeSNCrSCS
1363A0AIAGYY»AC U1 ai6aiu

=02 ATl AS

1= 3R40Y»AC

2 A4l A6
T=212R40Y»AC

21 Afal AST
T=7=2h40Y»AC

2 Al AeT
T=T2/80Y»fC

\— \— \— \—

e = e = e — e —

4 U 0 U~ 4 U~ 0 U~

e <L @ e <L @ e <L @ e <L @

z 82| 3 S = 82 2 82

> Aac > A ac > A ac > A ac

3 8sd 3 atd 3 atd 3 85l

o - o - o - o -

& 2% & Y & Y & Y

2G> 2G> 2G> 2G>

10 11 12 13 14 15 16 17
AU b~2®?UA 12Eé°5 66,128.6 66,128.6| 1,050,045.5 1,050,045.5| 360,361.5 360,361.5 129,594.3 129,594.3
31 Atadu
A‘L"JA:Z(‘)/E 1 12Eé°0 66,128.6 66,128.6| 1,050,045.5 1,050,045.5| 360,361.5 360,361.5 129,594.3 129,594.3
31 Atadu
ZPEZ'I‘%UEE 12802T8a0A0a0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
. ﬁ3~Uél' ‘I'><3ﬁ 7140 SREST3T3A0»A " NBT»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- ZBE3'I'éOY»ﬁC SRE3T 3 T30~ NBT»E3 1x3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
:Z30f3l:1:’36§3-|-3Y, 13Y3II3Y 7 A 33Y 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1262310V»AC A3/ 3T
jZéZUéﬁAUéﬁuuoaﬁE o7 2a462UgU°sE 0.0 0.0 456,733.5 456,733.5 0.0 0.0 0.0 0.0
0°ep” ©5asD
31 Atadu
D?ﬁf’lﬁY'?_l-Q’_I_Q’Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- %Y»f - »'I'Q-I- 13é3(a5Ala3Y Y»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3§lQ 13é3(a5AladY Y»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2A3NaAT3-(B13Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- ﬂéﬁUUC - é3ﬁﬂ3féﬁéﬁUY>>ﬁC T3A0313ta0Ala0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




Tev1

20la6e=T 04-02-01

10 11 12 13 14 15 16 17
an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aiAla0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»ic AYAS6CT Yana- ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 0.0 0.0| 456,733.5 456,733.5 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIaiA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0| 456,733.5 456,733.5 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUc’é 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ 44 &> 313Y I3W3T»AAaAlasYY»icY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééfgué_(;]{l?’Y»ﬁ a4 & T3I3Y adyCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
- éé\@péClQE‘Y»ﬁ 43 &»313Y yCY3Ve313yY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3W=T»A&40AIAGY Y »ACY
. 6%@290369006 66,128.6 66,128.6 593,312.0 593,312.0( 360,361.5 360,361.5 129,594.3 129,594.3
31 Afadu
AYA36C-I- 1r~"|3U3jBYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 66,128.6 66,128.6 593,312.0 593,312.0| 360,361.5 360,361.5 129,594.3 129,594.3
UST3A1=TY»CY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 44 66,128.6 66,128.6 593,312.0 593,312.0 0.0 0.0 129,594.3 129,594.3
3¢ WASICY 13X T»AA40AIAYY»ACY
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 0.0 0.0 0.0 0.0| 360,361.5 360,361.5 0.0 0.0
3¢ WA3CY T3S T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I ZEéOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
P3fil»hA, &3 W 31CA 1x3iAY»i ~ wWailA»i, afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

12631302 T3P USTSALSTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p
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20lase=T 04-02-01

10 11 12 13 14 15 16 17
2E1=Ee»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4a u£U=082T20 ZTTE1U°3E T1a1 126695 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Ai4o0
pEDUZT120 Pk2a0U°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
poUg°8 ©1 PEU&6AUaU0°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
- P>YUnAC  BCYAOAAIYY»1C BCYSn=nasA&0y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 625021a0a0U°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
- TA=VEAAN T =I0Y 6202 14na00Y»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2EU»>Y3Y»R - 63A0S1aRa00Y > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pEQUZ120 0E=a00°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
- USES 131 =71 3137 [SEeh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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YOG 7-fit Na1T3TAT pade» 1 3i0Y TSES»AC -afl=ey3T3Y 1363130 U3Y 04 p=AYC 02
EUKC 01 136C 1A= -ivfiC - TaT KBS 121 K3 WT20400Y»AC T»AT=Va0Y Asr
IBEe»AC TV 1»63-Cr3T3Y 1363T37- 03V N4 T2 1V»A¢

20la6e=T 04-02-01

S ATa00 AS W 1A= -fofiG

NaE0=TY I »E3T3Y T»Y13YCY»AC
NCT=Y145Ala6YY»AC EBuan=an

6Y»640 NajuuC ** VIasAG, pasie»rc
TSASYWCYC, -[410UR=T=paske»Ac
patlE»fiC A=RT &3YaiA=Y UCcadY»iC
E=UAR= AR —4R0=0YY ATAIAGYY»RC

Tlasd=rYw»eashi=y
afar ey wAsU=1irad
T3AI»AC Talaé=31aadluY»fic
8a0pECI=TARU3Y TA=-Cii

_3YC3T=3Y A3 -=1aRaA3Y
3c=T6aA=0p CR2T2Y=26140
§M450=T=Y T=21a0&6AIa5YY»fC

e w»0T4ail! 1a=U3rYanN=IcY
A=-CA

P3U3RE3ANZICY u3YIC
3¢3T64a0AIR U CAST3Y=36T40
P30U3{YUY»AC
-[BI03 WY I »e3T3Y
é»8aNBY»AC T363T3A03Y
Uf6asY3TasABY »Alfiant

Ry : 1A= -Cf
CR=T=Y=6400 1A=-cn
PALTZIC 3YT3Y45UA 3 ATaoU Aer 3 ATaoU Aew 31 ArasU Aew 3 ATaoU Aer
\— T3 7 3na0Y»iicC \— T30 3na0Y»ic \— T30 3na0Y»AC \— T3 7 3na0Y»iic
zg i zg i QS > QS i
> > > >
A 28 of o A =8 A 22 A <3
\— =) S > o \— k=) \— P \— R=)
< \8 T Es [ul G < \8 = < N -m_ < \8 =
> 28450t > A3 > 70 > Az
3 Q= o> 3 8:-(0 3 \— e 3 g!-m
0l 00 =y n s n 0 b n =
d =0 g - A 13 d = d w d =
5 fhseal | % il : i : il
8L°% g2 3 Eld
18 19 20 21 22 23 24 25
AU _2@°UA 12Eé&°3s 270,195.0 270,195.0] 1,163,013.7 1,163,013.7 57,029.8 57,029.8 1,373,532.8 1,373,532.8
31 AT48U
AUAZ20LT 12Eé°5 270,195.0 270,195.0] 1,163,013.7 1,163,013.7 57,029.8 57,029.8 1,201,703.2 1,201,703.2
31 AT45U
2pE21200k 12802T0a0A0a0U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AT45U
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AT48U
T2RESTA0Y»AC SRES T ST2A00A N2 T2 1x3Ton 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- g=0SUS60ETSY, ST - B =Ty SF 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[363080Y»AC A3h- 3 Tfi&U
12&20a0AUasuUCBE ©1 24a62UgU°dA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0cép” °daid
31 AT48U
P3AaYST313Y I1SEé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AT45U
I -1 CT 1363 A0NE0Y Y1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“T=AC 1363la0Aa0Y Yo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T2a3Na1=-A2T3Y 1SE6HR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
qA0IC  63AUS 1aRa0UY-AC 13103 1 SEA0AEDY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




114"

20lase=T 04-02-01

18 19 20 21 22 23 24 25
an140a00Y»MAC ** RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 1363[A0AIA0Y Y »AC O»éup»nasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3UST31-43(CY 13¢3(A0AIA6YY »1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y [3¢3a0AlaYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»iil3[=040053T3Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAdlAC 3 13€3a0AlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE U~3éY? -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(aiAla0YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA?(’)C-I- Yafia-ail " A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- D»U»Y3Y»MC ~ 63AUS TanasUY»ic AYAS6CT Yana- ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zé’lﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TASE»YISTIICY YIaiA»h ™ N3 - 46w 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANW3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢c3&3N313Y " EBuan=3an YlaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY €YYAC YIaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3S W 313(CY 3 YiaoA»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUc’é 0.0 0.0| 1,163,013.7 1,163,013.7 0.0 0.0 0.0 0.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ 44 &> 313Y I3W3T»AAaAlasYY»icY 0.0 0.0| 1,163,013.7 1,163,013.7 0.0 0.0 0.0 0.0
31 Afadu
_—_ééfgué_(;]{l?’Y»ﬁ a4 & T3I3Y adyCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%W=T»A&40AIAGY Y »ACY
- éé\@péClQE‘Y»ﬁ 43 &»313Y yCY3Ve313yY 0.0 0.0| 1,163,013.7 1,163,013.7 0.0 0.0 0.0 0.0
I3W=T»A&40AIAGY Y »ACY
. 6%@290369006 270,195.0 270,195.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA3OCT 1ﬁ3U3jBYéﬁNY»ﬁ S T3I3YNSTI=3IC 3f 270,195.0 270,195.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3A1=TY»CY
31 Afadu
- AYAQ’OQT ‘1ﬁ3U"3’BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 44 270,195.0 270,195.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WASICY 13X T»AA40AIAYY»ACY
- AYAQ’OQT ‘1_ﬁ_3U"3’B_Y_éﬁNY»ﬁ a» 313y " NSU3lYu=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ WA3CY T3S T»AA40AIAYY»ACY
- 2 AYAS4CT 1iA3U3RYAANY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZQE ~‘I ZEéOB 0.0 0.0 0.0 0.0 57,029.8 57,029.8| 1,201,703.2 1,201,703.2
31 Afadu
P3fil»hA, &3 W 31CA 1x3iAY»i ~ wWailA»i, afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

12631302 T3P USTSALSTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p
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20lase=T 04-02-01

18 19 20 21 22 23 24 25
2 1=E6»0 0.0 0.0 0.0 0.0 57,029.8 57,029.8| 1,201,703.2 1,201,703.2
2a 02082120 ZTTA1UCSE T1a1 126695 0.0 0.0 0.0 0.0 0.0 0.0 171,829.6 171,829.6
= A7 400
pEDUZT120 Pk2a0U°8 0.0 0.0 0.0 0.0 0.0 0.0 171,829.6 171,829.6
= A7 400
poUg®5 ©1 PEUAsAUA0U°S 0.0 0.0 0.0 0.0 0.0 0.0 127,779.1 127,779.1
= A7 400
~ P»YU»AC ~ RCVABAIADYY»1C RCY SH=natAiasy 0.0 0.0 0.0 0.0 0.0 0.0 127,779.1 127,779.1
7°g°020°8 ©1 625021a0a0U°8 0.0 0.0 0.0 0.0 0.0 0.0 44,050.5 44,050.5
= A7 400
S TNSYEAAN =Y 63002 1analY »h 0.0 0.0 0.0 0.0 0.0 0.0 7,460.5 7,460.5
—2EU»ir V2ol - 3RS TARA0UY»A 0.0 0.0 0.0 0.0 0.0 0.0 36,590.0 36,590.0
20E pEQUZ120 0E=a00°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/ S13Y 12E6m 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20E pE@U=T20 0E2a00°5 4,704.8 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/ S13Y 12E6m 4,704.8 0.0 0.0 0.0 0.0 0.0 0.0
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2¢40¢c=a3N=T3y
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a=A=y=ralgsT3yY

1=é63a5AlaGYY»h

p=gU=Y1=(

OAA»LY»RAT

Tane»ry»faf

33=aiU=3y
136=3(a0AlaYY»fi

T3ACU3 T4R »A»E3Y»ACY

Pa1T=1¢ =YT=VaslA

202 Af 4l AST
T=02Ra0V»AC

21 Afaol A6
T=21=20a0Y»AC

2 Afal A6
T=7=2/40Y»AC

2 A4l A6
T=2120a0Y»AC

\@© \@© \@© \@©

< T o oA < N < N < -
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= % % s = % = = % = = % =

< SESS < =3 < =28 < I3

A ) zi O A 0] i 2 U] e 2 U] e

= -0 e~ Bag = Bog = Bag

0] n oo lo 0] 0 e U] 0 e U] 0 e

g o M Jul g o " g o " g o "

> M > il > il > |

< L o= < o < R0 < 0

8 = e i ke

8 10 11 12 13 14 15
AU _2g°UA 12E&°s 1,311,956.4 1,311,956.4] 389,504.0 389,504.0] 53,040.7 53,040.7| 81,811.0 81,811.0
=1 Afasl
AUAZ0AT 12EE°8s 0.0 0.0 389,504.0 389,504.0] 53,040.7 53,040.7| 81,811.0 81,811.0
=1 Afasl
2pE2720gk 12802162a0A0a00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
_n3Ual 1x3n1a0 SRESTST310»1 ~ NS 1»E3 1x3Y»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
- 2RESTA0Y»NC SRES 13130000 - N2 153 1 x3AY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1282020AUa000U°8E ©1 2a020gU°BE 0.0 0.0 389,504.0 389,504.0] 53,040.7 53,040.7| 81,811.0 81,811.0
Oceg” 8200
=1 Afasl
P14y =T=13Y 1=Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Atas0
~I»h-» 1 Cl 1=6=1a0MasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-13aC 1=363aAlaryY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-233Mai=-i=13Y [3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tanias0asUY»AC ~ RAc= - SlatAlacYY»AC 1SEé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a30=Y=-A3CY 3E 1363a0AlaiY Y»1C O»etpm»iiasy 0.0 0.0 389,504.0 389,504.0] 53,040.7 53,040.7| 81,811.0 81,811.0
=[x Afasl
- D=03T30-33ICY 1=363[a0RlaoYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- OIS T 1313Y 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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8 9 10 11 12 13 14 15
- T3E63 T3 13Y 136340AlAsYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 0.0 0.0| 389,504.0 389,504.0| 53,040.7 53,040.7] 81,8110 81,811.0
AVASGCT Vaia-ai0 ~ &=Na=Yall (126 ARGV - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asNa=vail
Oléthoft (2&A=Y0Y»i) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbA»n ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T26aNcSASNII3Y - EBpanSTan Viaohon 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT>763031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TP & YAS T ST3Y SE ViaoAnh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®290369006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
AVASGCT 1i=U=RYAMNT >t 8o 1 =T N0 131G SE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
= AVASGCT 1A=USRYARNT » 8w =T=Y ~ (SU=N =KV & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY»ACY
~AVES6CT Hi=USRYARNY »1 &0 1 =T~ NSUSN U=y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
“2EAVAS6CT Tn3USRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (ulaoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3RIon, A=A S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁ}{»ﬁ US13A131Y»AC 1a0UC6 ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°BE 1121 12E6°8 13119564  1,311,956.4 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 1,311,956.4 1,311,956.4 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"[.{ﬂo(j °7 pEUasAlasuUeH 1,311,956.4 1,311,956.4 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 1,311,956.4 1,311,956.4 0.0 0.0 0.0 0.0 0.0 0.0
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10 11 12 13 14 15
—P»YU»iC - RCYAOABIYY»NC TSAC T 3E T »ASYana - asU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2°g°020°5 ©1 &20021a0a00°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
“2E UtV 3o~ 62003 T N0 » 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pE@U=T20 0E2a00°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/ S13Y 12E6m 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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St ATa0l ASH TR - fofiC

2¢40¢ SAMETHIAC
EA=3YU3Y " N3YAS(CY

~ART=T=Y 0-YasAlsY
U=ey=-Cra1=y,
EaflAtsw isT3Y -

@3ALSECASTSY 0-VasAi3Y
T3A-41 636740 H0»AC
1,03 -4ATST3Y SAT31A3Y0¢

Tab ) ATadHaC 3':»@]
aslu=ing 3%-3(cY

Ty ~ EaiNi [d o ni=1 =) 1653 -ic NBU3T30-U3Y
is%nsﬂ:féklﬁa%»ﬁ I=i=THiasUrAat=sTsy ersousy, Ustespnivsy - | 1T i gggﬂagjl\ua%wrlﬁu !
S3c3T640ABY T363Ia0AAY Vi USREUSY [363Ia0AAY Y1
e ) ) £ 5 £ 31 A4l Aer 3 AfaoU Aer 3 AfaoU Aer 3 AT400 A
113 33 33 - - - ~ . - P - o
BatT=1¢ =YT=vaUa w | 1=sraoisac - 1= 3a0V»iC - IS 3AA0VAC w |13 snaci»ic
2 2 2 2
. > . > . > . >
0 5 0 5 0 5 0 5
& Ly & =8 & 8 & %3
= 3ia = ek = ek = 3ia
> = \© > = \© > = \@© > = \©
A m e A m e A m e A m e
5 | 8=t 7 B L 7 2.3 7T | Sk
3 %0 3 %0 3 %0 s %0
% z% k] % z% k] % 1% k] % 1% k]
NS 30 30 NS
0 0 0 0
6 7 18 19 20 21 22 23
AU.=20°UA 12E6°5 89,8693 89,8693  231,066.2 231,066.2| 58,8674 58,867.4] 62,029.2 62,029.2
=1 Afasl
AUAZOET 12E6°5 89,8693 89,8693 23,0662 231,0662| 58,8674 58,8674 62,029.2 62,029.2
=1 Afasl
ZPEZT2Upk 128021620A0200 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
TASUAT T<R140 SRESTSTSM000 - B TS <SR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
TSRESTA0VSNC SRES TS TSM00R -~ NS 125 Tx AT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1262020AUR0USBE ©1 2a62UoUoBE 89,8693 89.8693|  231,066.2 231,0662| 58,8674 58,8674 62,029.2 62,029.2
Oces” ©5a00
=1 Afasl
EEEEAET 2,500.0 2,500.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
W0 CT T=6=ARaT Vo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TTSAC 1565 RNaTR 2,500.0 2,500.0 0.0 0.0 0.0 0.0 0.0 0.0
TSESNATS AT3Y 1S 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANTa0A0UTAC ~ R = - STANEY»AC TSE&R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aSlU5Y= - FoCY S 1565 BOAR V-G OrEUpmRail 87,3693 87,3693 23,0662 231,0662| 58,8674 58,8674 62,029.2 62,029.2
=[x Afasl
TPUST=R-A5KY 1565Ia0AR 28,500.0 28,500.0 0.0 0.0 0.0 0.0 0.0 0.0
NN = A EP P P 23,000.0 23,000.0 3.089.7 3.089.7 0.0 0.0 0.0 0.0




20lase=T 07-06-01
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16 17 18 19 20 21 22 23
- T3E63 T3 13Y 136340AlAsYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 35,869.3 358603 227,9765 227,976.5 58,867.4 58,867.4] 62,029.2 62,029.2
AVASGCT Vaia-ai0 ~ &=Na=Yall (126 ARGV - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asNa=vail
Oléthoft (2&A=Y0Y»i) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbA»n ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T26aNcSASNII3Y - EBpanSTan Viaohon 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT>763031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TP & YAS T ST3Y SE ViaoAnh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®290369006 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
AVASGCT 1i=U=RYAMNT >t 8o 1 =T N0 131G SE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
= AVASGCT 1A=USRYARNT » 8w =T=Y ~ (SU=N =KV & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY»ACY
~AVES6CT Hi=USRYARNY »1 &0 1 =T~ NSUSN U=y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
“2EAVAS6CT Tn3USRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (ulaoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3RIon, A=A S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁ}{»ﬁ US13A131Y»AC 1a0UC6 ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°BE 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"[.{ﬂo(j °7 pEUasAlasuUeH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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16 17 18 19 20 21 22 23
—P»YU»iC - RCYAOABIYY»NC TSAC T 3E T »ASYana - asU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2°g°020°5 ©1 &20021a0a00°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
“2E UtV 3o~ 62003 T N0 » 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pE@U=T20 0E2a00°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/ S13Y 12E6m 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

SE ATAU AST 17 - fofiC
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UCcasat Bb U=f=iCY >V AAYC Ta0UC6 CRT=Y=6140 CRST=YS6 140 A I,gﬁgmé
o A0CBABNSSY o SalEey ncac G T=Y245A1&6YYC
T3S T>RasAlas YV »fasl RSUSxSASTIUSYST3Y 63Y6¢ TSVE SRS -
uABI3 1 3Y |3é3U36AUéﬁYY>>ﬁQ NCUY¥J3Y," Efr~10.3’-:"‘YL\JU3Y I»A3NETUSY TR=- o
U= 456400 1RBU2RYAANSICY T7= -G
P PP 31 Atadu Aér 31 Atadu Aér 31 Atadu Aér
BatT=1¢ =YT=vaUa - T2 T2R40V»AC - T2 13ha0V»Ac - T2 T2A40Y»AC
8 N ;S N S .
o o o
3 =g 5 =g 5 7
7 Bl 7 Bl B Bl
g Lo g Lo g Lo
< g0 < g0 < g0
e e 0>
24 25 26 27 28 29
AU >~2®?UA 12Eé°5 20,229.9 20,229.9 27,808.6 27,808.6| 2,594,273.2 2,594,273.2
31 Atadu
A‘L"JAZ(‘)/ET 12Eé°8 20,229.9 20,229.9 27,000.5 27,000.5 463,781.5 463,781.5
31 Atadu
2pE=T20pk 120021620A0a50 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
. ﬁ3~Uél' ‘I'><3ﬁ 740 SREST3T3A0»A " NBT»E3 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 2RE3T1A0Y»AC SRES TS T3A0»A " NS I»ES Tx3AY»i 0.0 0.0 0.0 0.0 0.0 0.0
!ZéZUéﬁAUéﬁuuoé/E o1 2462UgU°sE 0.0 0.0 27,000.5 27,000.5 0.0 0.0
0°eg” ©3200
31 Atadu
P3R&YST=13Y 1SEéxn 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
“UY»ii-> 0 CT 12631A0AE0Y Y»h 0.0 0.0 0.0 0.0 0.0 0.0
-T=3AC 12631a0Ra0Y »h 0.0 0.0 0.0 0.0 0.0 0.0
- 233NAT3-A313Y I3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0
ManT1a60a00V»NC ~ RAG= - SIABAIABYY»AC TS Eexh 0.0 0.0 0.0 0.0 0.0 0.0
a=lU3V= A3y 3E 1263a0AA0YY»NG 0»etp»Naol 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
-p3US131-430Y 1263 a0Aa0Y Vi 0.0 0.0 0.0 0.0 0.0 0.0
- DO ISTT3T3Y 136340AlA5YY»A 0.0 0.0 0.0 0.0 0.0 0.0
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20la6e=T 07-06-01

24 25 26 27 28 29
- T3E63 T3 13Y 136340AlAsYY»i 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 0.0 0.0 0.0 0.0 0.0 0.0
AVASGCT Vaia-ai0 ~ &=Na=Yall (126 ARGV - 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0
asNa=vail
Oléthoft (2&A=Y0Y»i) 0.0 0.0 27,0005 27,0005 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbA»n ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 0.0 0.0
T26aNcSASNII3Y - EBpanSTan Viaohon 0.0 0.0 0.0 0.0 0.0 0.0
TT>763031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 0.0 0.0 0.0 0.0
TP & YAS T ST3Y SE ViaoAnh 0.0 0.0 27,0005 27,0005 0.0 0.0
. 6%@290369006 20,229.9 20,229.9 0.0 0.0 0.0 0.0
31 Atadu
AVASGCT 1i=U=RYAMNT >t 8o 1 =T N0 131G SE 20,229.9 20,229.9 0.0 0.0 0.0 0.0
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
= AVASGCT 1A=USRYARNT » 8w =T=Y ~ (SU=N =KV & 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY»ACY
~AVES6CT Hi=USRYARNY »1 &0 1 =T~ NSUSN U=y 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
“2EAVAS6CT Tn3USRYARNY > 20,229.9 20,229.9 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (ulaoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 463,781.5 463,781.5
31 Atadu
D3RIon, A=A S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ US13A131Y»AC 1a0UC6 ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 463,781.5 463,781.5
32 UEU=062120 TTA1U°BE 1121 12E6°8 0.0 0.0 808.1 808.1] 2,130491.7| 2,130,497
31 Atadu
D/EQ}HJZT?U oFzaoUed 0.0 0.0 808.1 808.1( 2,130,491.7 2,130,491.7
31 Atadu
Dc"[.{ﬂo(j °7 pEUasAlasuUeH 0.0 0.0 0.0 0.0 1,266,711.1 1,266,711.1
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 0.0 0.0 0.0 00| 770,222.9 770,222.9




197

20lase=T 07-06-01

24 25 26 27 28 29
—P»YU»iC - RCYAOABIYY»NC TSAC T 3E T »ASYana - asU 0.0 0.0 0.0 0.0| 496,488.2 496,488.2
2°g°020°5 ©1 &20021a0a00°3 0.0 0.0 808.1 808.1| 859,075.8 859,075.8
= A7 400
“2E UtV 3o~ 62003 T N0 » 1 0.0 0.0 808.1 808.1| 859,075.8 859,075.8
20E pE@U=T20 0E2a00°5 0.0 0.0 0.0 0.0 4,704.8 4,704.8
= A7 400
CUSE=- 12 1 S/ S13Y 12E6m 0.0 0.0 0.0 0.0 4,704.8 4,704.8




€197

§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D
Af»YOC 7-A1 NALT2TAT pidicr T =3CY TSE»AC - 4f1=26Y=T3Y 1363T3/-U=Y 07 p=AYC 06
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

20la6e=T 07-06-01

Pa1T=1¢ =YT=VaslA

S ATl AS T T7= - fofiG

P3U3RE3ANZICY p3YIC
2376458200 CAZT2Y=26140
a3 T3A=1Ca
NCT3Y1a5Ala5YY»fiC
TSVESA-»03Y -~ I»A2flelU=3y
1=30=RY4AN3CY TA=-CA

213131 -
CASTCx3TY»A4&U
HAGAQ - YasAIBY
13¢3{a0AlasyY»h

21 383U3Y3Y
2¢3¢2 740 TECYCTSY»AC

Ya3T3Tal pACRTY»Ac
-anTas0a00Y»f

§°OfA»E3Y»AC =640¢
&Yai640U! N=YRA3(CY
CASY»TU3Y
1=3¢3[apAlasY Y»hi

2 Al AsT
T=02Ra0V»AC

21 Afal A6
T=02Ra0V»AC

20 Af a0 AST
T=02/a0V»AC

21 Afal AST
T2 2ha0Y»AC

\© \© \© \©
$© e e et
. > . . > . >
] = ] Lo ] = ] =
= i% g = e gg = i% g = i% g
2 E 2 - 2 s 2 g
= = \© > i \@© > = \© > = \©
A ) ’o‘,): A [ ’o‘,): A ) ’o‘,): A ) ’o‘,):
£ Bog L 1 =x0 1 Bog 4 Bag
d N d o= d 0o d 0o
> [S4 it} > [ul it} > [S4 it} > O it}
< S < gl < S < =3
NoRY Sl NoRY Nl
m > > m > m >
30 31 32 33 34 35 36 37
AU _ 2@°UA 12Eé°8 198,795.6 198,795.6| 20,024.3 20,024.3] 29,500.0 29,500.0| 10,150.0 10,150.0
=l Atasl
AUA20ET 12E&°8 198,795.6 198,795.6| 20,024.3 20,024.3] 29,500.0 29,500.0| 10,150.0 10,150.0
=i Arasy
2pE27120gk 12602T6a0AU0aU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=l Atasl
_A=UAT Tx3iT140 SRESTST30»7 " NS T»E2 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=) Avasl
- 2RE3TA0Y»AC SRES W 3ST3A0»A ~ NST»E3 Tx3Y»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
12&82Ua0AUa0UUCSE @1 2582UgU°8E 0.0 0.0 0.0 0.0{ 29,500.0 29,500.0| 10,150.0 10,150.0
0Ceg” 25a00
=i Arasy
D?ﬁf’lﬁY'?_l-Q’_I_Q’Y I3Eé»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3L ATaiu
- WY»ii-»WCT 13€63{a0Ala6YY»fhi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T2A6 1=3¢=3{apAlagYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 28=Nai=-A=13Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tani1a50a0UY»AC  RAc= - SajAlasYY»AC ISEéxf 0.0 0.0 0.0 0.0 29,500.0 29,500.0 0.0 0.0
a3UQ3Y3 -A3ICY 3E 12é63(40AlA5YY»fiC 0»etu»hasl 0.0 0.0 0.0 0.0 0.0 0.0 10,150.0 10,150.0
3L ATaiu
- D2U=T=30-53(G0Y 1=36=(40Al6YY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IS TT3T3Y 13¢3a0AlA0YY»h 0.0 0.0 0.0 0.0 0.0 0.0 10,150.0 10,150.0




V191

20lase=T 07-06-01

30 31 32 33 34 35 36 37
- T3E63 T3 13Y 136340AlAsYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVASGCT Vaia-ai0 ~ &=Na=Yall (126 ARGV - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asNa=vail
Oléthoft (2&A=Y0Y»i) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TR2EVIET3ICY VidbA»n ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T26aNcSASNII3Y - EBpanSTan Viaohon 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT>763031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TP & YAS T ST3Y SE ViaoAnh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®290369006 0.0 0.0] 20,024.3 20,024.3 0.0 0.0 0.0 0.0
31 Atadu
AVASGCT 1i=U=RYAMNT >t 8o 1 =T N0 131G SE 0.0 0.0] 20,0243 20,024.3 0.0 0.0 0.0 0.0
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
= AVASGCT 1A=USRYARNT » 8w =T=Y ~ (SU=N =KV & 0.0 0.0] 20,0243 20,024.3 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY»ACY
~AVES6CT Hi=USRYARNY »1 &0 1 =T~ NSUSN U=y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUST»AAAAAYY »ACY
“2EAVAS6CT Tn3USRYARNY > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (ulaoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 198,795.6 198,795.6 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3RIon, A=A S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'?ﬁ}{»ﬁ US13A131Y»AC 1a0UC6 ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 198,795.6 198,795.6 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°BE 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"[.{ﬂo(j °7 pEUasAlasuUeH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20lase=T 07-06-01

30 31 32 33 34 35 36 37
—P»YU»iC - RCYAOABIYY»NC TSAC T 3E T »ASYana - asU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2°g°020°5 ©1 &20021a0a00°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
“2E UtV 3o~ 62003 T N0 » 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pE@U=T20 0E2a00°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/ S13Y 12E6m 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D 20i4563T 07-06-01
Af»YOC 7-A1 NALT2TAT pidicr T =3CY TSE»AC - 4f1=26Y=T3Y 1363T3/-U=Y 07 p=AYC 06
EUUC 01 126G Th=-f»AC - TaT N2 =1 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr3T3Y 136313003 NaLT2TV»AC

31 AT40U0 A6 TA= - AnfiC
qtap=t NCUY=31A=0C et R A | A A K
PASACTSEHAC ™ | Sc=Teathialy Cra=y=orad| T on -t U S 10a0m =N
xR TT=Y S CA=313Y30140 8D3FET3YC
HAOAT> WA LASTSTSY SOoEe Y V=& WATAIA0V A0 BE2T/
e3Au=T1anauY»nic D3Yii=&»rasAlasyadu . 2 i f~
o R anan. ! LA \aovaot_ OE2D-C 1»U AZNSAC 3b-3(CY
a=Na3vaiu radu»iladlalC »U a=u=ng iA=-ACY 2c3ToaAlasy !
s 2 oAl Lx R A ity A=-ACY 3¢310a0Alady |
R3N=-anTasu 46A»0=06400" ARl TR
_am»0=oal; 1F2U2RYAANSICY 1A= -Ci
1FBUSRYARNSICY 1A= -Cf
e £y A £ 31 AT4dU Aer 3 Atadl Aer 3 AT400 Aer
173 33 33 - ~ . ~ - - ~ -
BatT=1¢ =YT=vaUa w | 1=sraoisac - =1 340V»AC - IS 3RA0VAC
;g > ;C ;C
. m > > > > >
\—= Biz \— S it = 3Tz
< s < =8 < =3
> M c > n s B m =
3 o 1 3 2l 3 2l
Ul - 105): Ul 0 ’05): Ul ) ’05):
o2
g 7 g Le g 3
< off ] < @ () < @
> O > O >
2 " "
38 39 40 41 42 43
AU _2@°UA 12Eé°s 40,000.0 40,000.0( 1,536,827.9 1,536,827.9 718,044.6 718,044.6
31 AT45U
AUAZ20LT 12Eé°d 40,000.0 40,000.0( 1,536,827.9 1,536,827.9 718,044.6 718,044.6
31 AT45U
2pE2T2Ugk 12802Tda0AlasU 0.0 0.0 94,578.9 94,578.9 36,970.2 36,970.2
31 AT45U
_ASUAT 1x31140 SREST2T3A0»A ~ NS T»E3 Tx3Y»fi 0.0 0.0 94,578.9 94,578.9 36,970.2 36,970.2
31 AT48U
- 2RE3T1A0Y»AC SRES TS T3A0»A " NS I»ES Tx3AY»i 0.0 0.0 94,578.9 94,578.9 36,970.2 36,970.2
12820a0AUaUUCBE ©1 2a02UgU°dE 40,000.0 40,000.0 604,177.1 604,177.1 458,118.6 458,118.6
0ceg” °daid
31 AT45U
P3AaYST313Y I1SEé»h 0.0 0.0 6,368.5 6,368.5 1,241.7 1,241.7
31 AT48U
“UY»ii-> 0 CT 12631A0AE0Y Y»h 0.0 0.0 711.9 711.9 240.3 240.3
“T3AC 12621a0Aa0Y Yh 0.0 0.0 711.9 711.9 0.0 0.0
- 233NAT3-A313Y I3Eé»f 0.0 0.0 4,944.7 4,944.7 1,001.4 1,001.4
ManT1a60a00V»NC ~ RAG= - SIABAIABYY»AC TS Eexh 0.0 0.0 2,567.7 2,567.7 691.0 691.0
a3lU=Y3 - A=Y SE 1S631a0AR0Y V»NC 0»€Up»Rail 0.0 0.0 233733 23733 2,402.8 2,402.8
31 Atadu
“D3UST3A-421Y 1263a0AR0Y V»h 0.0 0.0 0.0 0.0 0.0 0.0
- DO ISTT3T3Y 136340AlA5YY»A 0.0 0.0 0.0 0.0 0.0 0.0




L1191

20la6e=T 07-06-01

38 39 40 41 42 43
- T3E63 T3 13Y 136340AlAsYY»i 0.0 0.0 2,373.3 2,373.3 2,402.8 2,402.8
T AVINSYaAdN RYAIAC SE 1363 R0N&0Y YR 0.0 0.0 0.0 0.0 0.0 0.0
AVASGCT Vaia-ai0 ~ &=Na=Yall (126 ARGV - 40,000.0 40,000.0 3559.8 3559.8 306.4 306.4
YlaoA»fi)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGCT Yana-ail 40,000.0 40,000.0 3,550.8 3,550.8 306.4 306.4
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0 589,307.8 589,307.8 453,476.7 453,476.7
31 Atadu
TR2EVIET3ICY VidbA»n ~ N2 -&06 1 0.0 0.0 356.0 356.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 4,805.7 4,805.7 4625 462.5
T26aNcSASNII3Y - EBpanSTan Viaohon 0.0 00| 5837901 583,790.1 453,014.2 453,014.2
TT>763031CY ~ NSYRSICY 8YVAC VIAbA 0.0 0.0 356.0 356.0 0.0 0.0
TP & YAS T ST3Y SE ViaoAnh 0.0 0.0 0.0 0.0 0.0 0.0
. 6%@290369006 0.0 0.0 744,628.4 744,628.4 159,916.0 159,916.0
31 Atadu
AVASGCT 1i=U=RYAMNT >t 8o 1 =T N0 131G SE 0.0 00| 744,6284 744,628.4 159,916.0 159,916.0
U:"‘I:?'ﬁl::‘ 1Y»ACY
31 Atadu
= AVASGCT 1A=USRYARNT » 8w =T=Y ~ (SU=N =KV & 0.0 00| 74,6284 744,628.4 67,559.9 67,559.9
3¢ TASICY TIUST»AAAAAYY»ACY
~AVES6CT Hi=USRYARNY »1 &0 1 =T~ NSUSN U=y 0.0 0.0 0.0 0.0 69,423.9 69,4230
3¢ TASICY TIUST»AAAAAYY »ACY
“2EAVAS6CT Tn3USRYARNY > 0.0 0.0 0.0 0.0 22,932.2 22,932.2
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1=Y 0-VAA=Y 1n=U= 1Y =1 =R=ln GA=Up 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»fi (ulaoc»Co)
31 Atadu
T2EVASETYon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 93,443.5 93,443.5 63,039.8 63,039.8
31 Atadu
D3RIon, A=A S1CR Tx2RT>n T alkoR, AHaT0 ‘ 0.0 00 934435 93,4435 63,039.8 63,039.8
I3e3|'3ﬁU3Y 'I'?ﬁp?)ﬁ US13A131Y»AC 1a0UC6 ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°BE 1121 12E6°8 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/EQ}HJZT?U oFzaoUed 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"[.{ﬂo(j °7 pEUasAlasuUeH 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYADAIAGYY»NG RCY SASNAAADY 0.0 0.0 0.0 0.0 0.0 0.0




8197

20lase=T 07-06-01

38 39 40 a1 42 43
—P»YU»iC - RCYAOABIYY»NC TSAC T 3E T »ASYana - asU 0.0 0.0 0.0 0.0 0.0 0.0
2°g°020°5 ©1 &20021a0a00°3 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
“2E UtV 3o~ 62003 T N0 » 1 0.0 0.0 0.0 0.0 0.0 0.0
20E pE@U=T20 0E2a00°5 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 12 1 S/ S13Y 12E6m 0.0 0.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YA= 8y W AAIBY 2017 ATST2YC 8» =13V aic»C U=6CY! D

f»YUC 7-it NALT=TAT plabcr w20y T2ES»AC -aRT=26Y2T3Y 1263T24-U3Y 07 p=AYC 06

EUNGC 02 136G 1A= -AvfC - Tal N2e =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 163 -Cr3T3Y 1363T30- 03V N4 T2 1V»A¢

D‘? iI»T3INS5
200466=3T N 07-06-02

3 A1ao0 Aew TA=-finAC
TaRT=1CA CRE=YasAI=Y,
é>)'~l'3:|-3Y _|-3é3_ !’3’ﬁU3Y
NSYASS =Ty "
TIASTUSCY T363 73UV
USAUCYY»AC &3&=Yail
(Y2E3fShatAa0YY»C
AVIZUsYA | SRESTST3WAC US64T)
e yivAi ol =1 Afao) Aew
PALT=C 3YT=YaiUA - 400=1A - TS TSRO
(N=%=h 5
1R3UY»A4T) < o
< \© S
% T e
7 Bl
3 %0
<L *% ‘(;J,)J
n >
1 2 3
AU_2g°UA 12E&°5 1,836,666.1| 1,836,666.1 1,836,666.1
=1 Ao
AUAZOET 12E&°5 1,836,666.1] 1,836,666.1 1,836,666.1
=1 Afas0
2pEZT2Upk 120021020AUa00 1,714,690.8| 1,714,690.8 1,714,690.8
=1 Afas0
2041 X310 SRES 12120000 NS >3 1x3AT»h 1,714,690.8| 1,714,690.8 1,714,690.8
=1 Afas0
T 2RESTA0V»NC SRES TS TR0 N2 562 [x21T»A 1,621,4405| 1,621,4405 1,621,4405
- 3030260 213Y, 131313~ a» 3137 SE 93,250.3 93,250.3 93,250.3
1=6=2(40V»AC A=A =140
1282020AUa000°8K ©1 2a0620sU°8k 118,742.5|  118,7425 118,742.5
0°eps” ©3200
=1 Afas0
PSRaVST313Y 1SEe»n 58,156.8 58,156.8 58,156.8
=1 Afas0
“UY»h-»> WGl 126=1a0Aa0Y YA 27,9486 27,9486 27,048.6
- TaUa=E 1=631a0ka0Y Yo i 920.8 920.8 920.8
“T=AC 126=a0RaTV»n 18,5675 18,567.5 18,567.5
“233Na1=-A=12Y 12E6»A 640.0 640.0 640.0
~TADIC =AU TARAUY»AC T =R0= 1 Sta0Ala0Y 10,079.9 10,079.9 10,079.9
MaRTa00a0Y»NC ~ BAC= - SAGAAIYY»AC 1=Eéx»n 32,318.3 32,318.3 32,3183

20la6e=T 07-06-02



0297

1 2 3

a3UL33Y3 -A3ICY 3E 13é¢3[A0AIA6YY»AC O»éup»nasu 2,274.4 2,274.4 2,274.4
31 Afadu

- DBUBT30-33CY 13¢3aiAlasYY»h 500.0 500.0 500.0
- DO ISTT3TI3Y 1363(aAladYY»fhi 811.7 811.7 811.7
- AYIN3YAGA pYailAC 3 1=3é63la0Ala0Y Y»ii 962.7 962.7 962.7
AYA:?'OCI Yaia-ail " A3Na3YaiU (13é63lasAlasyY»i 6,753.9 6,753.9 6,753.9
YiaoA»h)

31 Afadu

- b»YO»AC " T3¢€al0Y»AC AYA=6CT Yana-ail ~ A3Na3Yail 2,129.4 2,129.4 2,129.4
- D»U»Y3Y»AC " 63A0B TaNasUY»AC AYAS6CT Yana-aiu = 4,624.5 4,624.5 4,624.5
a=Na=vai

U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 19,239.1 19,239.1 19,239.1
31 Afadu

- A=6»YIST3(CY YlaiA»h ™ N3 - 406 2,924.0 2,924.0 2,924.0
- TABYEAAA T 3ICY YiaiA»h 15,439.0 15,439.0 15,439.0
- T»Y6303(CY " NBYASICY &YYLC YaiA»fi 876.1 876.1 876.1
2UE ~‘| ZEéoé 3,232.8 3,232.8 3,232.8
31 Afadu

P3fil»h, &3 W 31CA 1x3iAY»i ~ WailA»i, afayo 3,232.8 3,232.8 3,232.8
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- @AIPECIC3Y»1 43 yCY3VEZT3Y &» 313y 0.0 0.0 0.0 0.0 0.0 0.0 7,980.2 7,980.2
=03 T»AA40A1A6YY»ACY
. 02@2pUasbles 0.0 0.0 0.0 0.0 7,659.0 7,659.0 0.0 0.0
SR YEL
AYAS4CT 1ASU3RYAANY»A &» T 31T3Y N3 T131C 3 0.0 0.0 0.0 0.0 7,659.0 7,659.0 0.0 0.0
UST3A13TY»ACY
SR YEL
- AYAZ30CT 840 T»Y6C2Y»A N2USIYUY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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1=Y0=1 >?ﬁéé(~)AUéﬁY“(»ﬁQY
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-0 i§ﬁ3'l'féﬁAﬂéﬁYY>>ﬁ 3 R=3NaglA AN»3AY140 0.0 0.0| 37,863.0 37,863.0 0.0 0.0 0.0 0.0
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D/EQPZ’I\?U PExaOUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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@?Z?U?UOB °i é28g2i1a6a6gu°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafaiuY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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=) Avasl
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31 Afadu
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AU _2@°UA 12Eé°s 1,397,515.2( 35,966.4 35,966.4( 109,683.3 109,683.3( 18,043.7 18,043.7| 331,427.2 331,427.2
31 Aracl
AUAZ20LT 12Eé°d 1,397,515.2 35,966.4 35,966.4( 109,683.3 109,683.3( 18,043.7 18,043.7| 331,427.2 331,427.2
31 Atasl
12&20a0AUasuUCBE ©1 24a62UgU°dA 210,798.3| 35,966.4 35,966.4 0.0 0.0 18,043.7 18,043.7 0.0 0.0
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NanT400800Y»NC ~~ BAc= - SA0ARYY»AC TSEe»h 17,7750 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A3U3V= A=Y SE 12631A0AR0YY »1C O»Up»AaoU 193,023.3| 35,9664 35,066 4 0.0 0.0 18,043.7 18,043.7 0.0 0.0
31 Atasl
- DO ISTT3T3Y 136340Ala5YY»A 1,250.0 1,250.0 1,250.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3E63 T3 13Y 136340AlasYY»i 320.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~AVINSVa0n pYalAC = 1=26=R0Aa0Y Y 191,4533| 34,7164 34,7164 0.0 0.0 18,043.7 18,043.7 0.0 0.0
. 02@2pUasbles 1,107,999.3 0.0 0.0 109,683.3 109,683.3 0.0 0.0] 331,427.2 331,427.2
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AVAS6CT TnSUSRVARNY » 8o 1 T3 NS T 131G 3E 1,107,999.3 0.0 0.0] 1096833 109,683.3 0.0 0.0 3314272 331,427.2
USTSAIZTY»ACY
31 Arasl
TAVAS6CT TRBUSRYARNTY»A a» 1 =13V~ RSUSNU3Y 48 1,107,999.3 0.0 0.0] 1096833 109,683.3 0.0 0.0 3314272 331,427.2
3¢ WA3CY T3S T»AA40AIAYY»ACY
éa0k2E212U Uazétuos ©i 1°Ué2Aab21U°s 78,717.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
BA6C3EZT3Y 0-VaARY IR30U=T3Y 3h 1 SN2 aA=Up 78,7176 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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AU _2@°UA 12Eé°s 59,522.6 59,522.6| 120,088.0 120,088.01 14,097.6 14,097.6 1,280.4 1,280.4
31 Aracl
AUA20LT 12Eé°8 59,522.6 59,522.6| 120,088.0 120,088.01 14,097.6 14,097.6 1,280.4 1,280.4
31 Atasl
jZéZUéﬁAUéf)UUOB/E °1 2a62UgU°sE 59,522.6 59,522.6 0.0 0.0 0.0 0.0 1,280.4 1,280.4
OPeg” °daid
31 Atasl
ManT1a60a00V»NC ~ RAG= - SIABAIABYY»AC TS Eexh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A=U37=2-A310Y 2E 12631a0AA0Y V»1iC O»6Up»nadU 59,522.6 59,522.6 0.0 0.0 0.0 0.0 1,280.4 1,280.4
31 Atasl
- DO ISTT3T3Y 1363(40AIA5YY» 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T2E3 353 13Y 1363(a0Ala5YY»Hh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
—AVINSYAR WYadAC S 136=31a0Aa0Y Y»h 59,522.6 59,522.6 0.0 0.0 0.0 0.0 1,280.4 1,280.4
. 02@2pUasbles 0.0 0.0 120,088.0 120,088.0 0.0 0.0 0.0 0.0
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31 Arasl
—AVAS6CT 12USRVARNY»A 8» 13137 -~ NSUSNU2I0Y 44 0.0 0.0| 120,088.0 120,088.0 0.0 0.0 0.0 0.0
3¢ WA3CY T3S T»AA40AIAYY»ACY
8aok2E2120 Ua2eruos ©1 1°082Aap21U°0 0.0 0.0 0.0 0.0[ 14,0976 14,097.6 0.0 0.0
31 AT4U
BA0C=E=12Y 0-ValA=Y 1=0=12Y =i =N=n aA=Up 0.0 0.0 0.0 00 14,097.6 14,097.6 0.0 0.0
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AU . 2@°UA 12Eé°d 370,311.5 64,751.5| 230,167.2( 44,159.1 320.0| 30,913.7| 64,620.0 64,620.0( 266,936.5 266,936.5
31 AT45U
AUAZ20LT 12Eé°d 370,311.5 64,751.5| 230,167.2( 44,159.1 320.0| 30,913.7| 64,620.0 64,620.0( 266,936.5 266,936.5
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36 TASICY TSW3T»AA40AIAYY»ACY
8a0k=E2120 Ua=610°8 ©1 1°U&2Aap=10°8 0.0 0.0 0.0 0.0 0.0 00| 64,620.0 64,620.0 0.0 0.0
31 Atadu
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